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Question Number : 1 Question Id : 71087010191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teaching differs from training and conditioning in so far as it promotes

1. Disciplined drill

2. Critical thinking

3. Steady association
4. Mastery of facts
Options :
71087040681. 1
71087040682. 2
71087040683. 3
71087040684. 4

Question Number : 1 Question Id : 71087010191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040681. 1
71087040682. 2
71087040683. 3
71087040684. 4

Question Number : 2 Question Id : 71087010192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the spectrum of teaching methods given below, which are considered dialogic?
A. Laboratory work

B. Demonstration

C. Tutorials

D. Group discission

E. Project work

Choose the correct answer from the options given below

1. Cand D only
2. A and B only
3.B and Conly
4. D and E only



Options :

71087040685. 1
71087040686. 2
71087040687. 3
71087040688. 4

Question Number : 2 Question Id : 71087010192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040685. 1
71087040686. 2
71087040687. 3
71087040688. 4

Question Number : 3 Question Id : 71087010193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Identify from the following, those features of key behaviours which are contributive to the
effectiveness of teaching

A. Lesson clarity which implies making ideas clear to the learner

B. Questioning-implying fact and concept based questions

C. Probing involving eliciting and soliciting moves

D. Teacher-task orientation with a focus on outcomes of the unit clearly defined

E. Engagement in the learning process which implies the amount of time students devote to
learning

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. B, D and E only
Options :
71087040689. 1
71087040690. 2
71087040691. 3
71087040692. 4

Question Number : 3 Question Id : 71087010193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040689. 1
71087040690. 2
71087040691 3
71087040692. 4

Question Number : 4 Question Id : 71087010194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following factors contributing to school learning are termed as social
competence?

A. Motivation

B. Intelligence

C. Social skills

D. Family support

E. Specific abilities of the learner

Choose the correct answer from the options given below:

1. A, Cand D only
2. A, Band Conly
3.B,Cand D only
4.C, D and E only
Options :
71087040693. 1
71087040694. 2
71087040695. 3
71087040696. 4

Question Number : 4 Question Id : 71087010194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040693 1
71087040694. 2
71087040695. 3
71087040696. 4

Question Number : 5 Question Id : 71087010195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Methods of estimating the reliability of a|Description
test

l. Administering the test in one session with

A, Test-retest method : ]
two equivalent halves of the test for correlation

Il. Two or more raters score the test
B. Alternate form method .
independently

, lll. Administering the same test to the same
C. Split-half method , .
group at two different sessions

IV. Administering the two forms of the test to
D. Inter-rater method

the same group at two different sessions

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-IVB-IL,C-I1L,D-1
4AA-1ILB-IV,C-1,D-1I
Options :

71087040697. 1
71087040698. 2
71087040699. 3
71087040700. 4

Question Number : 5 Question Id : 71087010195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-IV,C-I,D-1
Options :

71087040697. 1
71087040698. 2
71087040699. 3
71087040700. 4

Question Number : 6 Question Id : 71087010196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following research is intervention-based, cyclic in nature and improvement
focused?

1. Case study research

2. Survey research

3. Experimental research
4. Action research
Options :

71087040701. 1
71087040702. 2
71087040703. 3
71087040704. 4

Question Number : 6 Question Id : 71087010196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087040701. 1
71087040702. 2
71087040703. 3
71087040704. 4

Question Number : 7 Question Id : 71087010197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using an appropriate parametric test in a research project, the researcher finds evidence to
reject the Null hypothesis. In doing so, which type of error is likely

1. Alpha error

2. Beta error

3. Both Alpha and Beta errors
4. Neither Alpha nor Beta error
Options :

71087040705. 1

71087040706. 2

71087040707. 3

71087040708. 4

Question Number : 7 Question Id : 71087010197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040705. 1
71087040706. 2
71087040707. 3
71087040708. 4

Question Number : 8 Question Id : 71087010198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A college/university teacher plans to test his/her substantive research hypothesis in a major
project. Which of the following statements are considered relevant in this regard?

A. Substantive research hypothesis has to clearly specify the relationship among variables
B. Research hypothesis may be directed at finding out differential effects or relationships
C. Null hypothesis should be formulated beforehand

D. There is direct support available for testing the substantive research hypothesis

E. The final decision on the research hypothesis may be reached indirectly by deciding the fate
of the Null hypothesis

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, DandE only
4. A B and E only
Options :
71087040709. 1
71087040710. 2
71087040711. 3
71087040712. 4

Question Number : 8 Question Id : 71087010198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. Bad A, D IARE
4, BT A, B IARE
Options :
71087040709. 1
71087040710. 2
71087040711. 3
71087040712. 4

Question Number : 9 Question Id : 71087010199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Sampling techniques used in research |Description

A. Simple random sampling . The units are identified in terms of various
specific features identified before drawing a
sample structure

B. Systematic sampling Il. Each unit is given an equal independent chance
of being picked up

C Di . I i lll. The k-interval is obtained by N/n and the units
. Dimensional samplin , ) _
Ping are drawn using the same, where N is population

size and n is desired sample size.

D. Snowball sampling V. First member unit is used to identify the second
unit and so on

Choose the correct answer from the options given below:

T.A-1LB-IV,C-1I,D-1l
2ZA-1,B-NL,C-1,D-1IV
3A-IV,B-1I,C-1Il,D -1
4 A-ILB-L,C-IV,D-1
Options :

71087040713. 1
71087040714. 2
71087040715. 3
71087040716. 4

Question Number : 9 Question Id : 71087010199 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IL,LBE-IW, C-1I,D-1
2ZA-ILB-U,C-1,D-1V
SA-IVB-ILC-1,D-1
4AA-ILB-I,C-IV,D-1I
Options :

71087040713. 1
71087040714. 2
71087040715. 3
71087040716. 4

Question Number : 10 Question Id : 71087010200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Empirico-inductive paradigm in research focuses on meaning-giving subjective
perspectives to depict reality

Reason R: The purpose of research in this paradigm is not to arrive at generalizations but to
discover the reality as lived

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040717. 1

71087040718. 2

71087040719. 3

71087040720. 4

Question Number : 10 Question Id : 71087010200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040717. 1

71087040718. 2

71087040719. 3

71087040720. 4

Sub-Section Number : 2
Sub-Section Id : 710870276
Question Shuffling Allowed : Yes

Question Id : 71087010201 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer questions that follow

Marketers are reexamining their relationships with social values and responsibilities and with
the wvery Earth that sustains us. As the worldwide consumerism and environmentalism
movement mature, today's marketers are being called on to develop sustainable marketing
practices. Corporate ethics and social responsibility have become hot topics for almost every
business. And few companies can ignore the renewed and very demanding environmental
movement. Every company action can affect customer relationships. Today's customers expect
companies to deliver value in a socially and environmentally responsible way.

The social-responsibility and environmental movements will place even stricter demands on
companies in the future. Some companies resist these movements, budging only when forced
by legislation or organized customer outcries. Forward-looking companies, however, readily
accept their responsibilities to the world around them. They view sustainable marketing as an
opportunity to do well by doing good. They seek ways to profit by serving immediate needs
and the best long-run interest of their customers and communities.

Some companies, such as Patagenia, Ben & Jerry's, Timberland, Method, and others, practice
caring capitalism, setting themselves apart by being civic-minded and responsible. They build
social linkages.

Sub questions

Question Number : 11 Question Id : 71087010202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The present-day marketers have focused on

1. Consumerism

2. Social obligations

3. Sustaining their business practices
4. Competitive business

Options :

71087040721. 1

71087040722. 2

71087040723. 3

71087040724. 4

Question Number : 12 Question Id : 71087010203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concern for today's society centres on

1. Marketing strategies

2. Customer relations

3. Corporate ethics

4. Delivery of value for money
Options :

71087040725. 1

71087040726. 2

71087040727. 3

71087040728. 4

Question Number : 13 Question Id : 71087010204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What do farsighted companies prefer?

1. Sustainable marketing

2. Legislative compulsion

3. Organised consumer pressure
4. Status quo in the market
Options :

71087040729. 1

71087040730. 2

71087040731. 3

71087040732. 4

Question Number : 14 Question Id : 71087010205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the passage, sustainable marketing is perceived as

1. Immediately profitable

2. Community fallacy

3. Doing good to community as an opportunity
4. Long-term burden to society as a difficult issue
Options :

71087040733. 1

71087040734. 2

71087040735. 3

71087040736. 4

Question Number : 15 Question Id : 71087010206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Caring capitalism is inclusive of

A. Make profit by ignoring social demands

B. Being civic-minded

C. Forging social linkages

D. Budge when there is a legislative nudge

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087040737. 1
71087040738. 2
71087040739. 3
71087040740. 4

Question Id : 71087010201 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087010202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040721. 1

71087040722. 2

71087040723. 3

71087040724, 4

Question Number : 12 Question Id : 71087010203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040725. 1
71087040726. 2
71087040727. 3
71087040728. 4

Question Number : 13 Question Id : 71087010204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087040729. 1
71087040730. 2
71087040731. 3
71087040732. 4

Question Number : 14 Question Id : 71087010205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
U=se & HUR G4 faUuH &l S E 0 8 I 9l 6 -
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Options :

71087040733. 1

71087040734. 2

71087040735. 3

71087040736. 4

Question Number : 15 Question Id : 71087010206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HagTiie geiiarg o YHIfde & -

A. IS HITT BT SUET R ATH HAM
. TR HIGT & aRguf g

C. gt Heel ol

D. B d19dl & BRI gdbd H M
ol faded &1 984 B

1. Had A 3R B
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4. FAAA AR D
Options :
71087040737. 1
71087040738. 2
71087040739. 3
71087040740. 4

Sub-Section Number : 3
Sub-Section Id : 710870277
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087010207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The concept ‘fraction of selection’ in classroom communication is determined by the
expectation of reward related to

1. Efforts needed

2. Reviews needed

3. Peer pressure needed
4. Time-lag needed
Options :

71087040741. 1
71087040742. 2
71087040743. 3
71087040744. 4

Question Number : 16 Question Id : 71087010207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Gﬂ?ﬂ%:

1. AMIGD UAY

2. =GP FHI&M

3. HOWEH JHHE] GaIg
4, 924D GG
Options :

71087040741. 1
71087040742. 2
71087040743. 3
71087040744, 4

Question Number : 17 Question Id : 71087010208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Efficacy of written communication depends upon

A. Lengthy presentation

B. Complex sentence structure

C. Editing after writing

D. Brevity in sentences

E. Use of strong words

F. Effective use of words

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3.C, D and F only
4.D,Eand F only
Options :
71087040745. 1
71087040746. 2
71087040747. 3
71087040748. 4

Question Number : 17 Question Id : 71087010208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



faRad Iuwu ®f gHIfaar 39 W STeRd § -
A. 9gd TieT U Ih
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D. Tl H geHal
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R F
4. HAAD, E3RF
Options :
71087040745, 1
71087040746. 2
71087040747, 3
71087040748. 4

Question Number : 18 Question Id : 71087010209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: It is the responsibility of the teacher to make students active listeners with the
help of different interactive techniques

Reason R: In teacher-centric communication, students tend to become passive listeners
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087040749. 1

71087040750. 2

71087040751. 3

71087040752. 4

Question Number : 18 Question Id : 71087010209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087040749. 1

71087040750. 2

71087040751. 3

71087040752. 4

Question Number : 19 Question Id : 71087010210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Type of communication Characteristics

A. Intra-personal l. Between persons

B. Inter-personal Il. within a small organisation

C. Group lll. Large number of unknown audience
D. Mass IV. Within oneself

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :

71087040753. 1
71087040754. 2
71087040755. 3
71087040756. 4

Question Number : 19 Question Id : 71087010210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i1 Dl Tall-1l Y AT Bife ;

gal-| gl-1l

U0 BT ThR fa=Ivan

A, 3 Jafdas |, Sfaadl & 99

B. 3R agfdad 1. 7Y T3 & |1

C. 998 11, ST Yidrei &1 921 g
D. SiF-HHeH V. %ad |

g f[aeul § § 9al ST &1 90 31 :

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
71087040753. 1
71087040754. 2
71087040755. 3
71087040756. 4

Question Number : 20 Question Id : 71087010211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Personality conflicts in a classroom situation are a barrier to effective interaction

Statement |I: Impersonal communication is invariably considered the best solution in a
classroom environment

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement Il is true
Options :

71087040757. 1

71087040758. 2

71087040759. 3

71087040760. 4

Question Number : 20 Question Id : 71087010211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EICKA SN A
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1. @Y | 3R 1| GHf T8l 2l

2. YT | 3R 11 GFf T8l el 8l
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Options :

71087040757. 1

71087040758. 2

71087040759. 3

71087040760. 4

Question Number : 21 Question Id : 71087010212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given three numbers, first is twice the second and is half of the third. If the average of three
numbers is 56, then the difference of first and third number is

1. 12

2. 24

3. 36

4.48

Options :
71087040761. 1
71087040762. 2
71087040763. 3



71087040764. 4

Question Number : 21 Question Id : 71087010212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e 7 Teae € et ) uec T gudl O @ gl & oYl de e @i el 81 afg et
TEH13HT D1 3HTEd 56 B dl UGl 3R IRl H@A1 B 3R I -

1.12

2. 24

3.36

4. 48

Options :
71087040761. 1
71087040762. 2
71087040763. 3
71087040764. 4

Question Number : 22 Question Id : 71087010213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the next term in the series
2,10, 26, 50,

1. 78

294

3.82

4.104
Options :
71087040765. 1
71087040766. 2
71087040767. 3



71087040768. 4

Question Number : 22 Question Id : 71087010213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2,10, 26,50 ___ B 4@ H 3FTd 3Hep BT (e &1 -

1. 78

294

3.82

4.104
Options :
71087040765. 1
71087040766. 2
71087040767. 3
71087040768. 4

Question Number : 23 Question Id : 71087010214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A man in a train notices that he can count 31 telephone poles in one minute. If the poles are at
equal intervals of 50m, what is the speed of the train?

1. 50 km/hour
2. 60 km/hour
3. 80 km/hour
490 km/hour
Options :

71087040769. 1
71087040770. 2
71087040771. 3
71087040772. 4



Question Number : 23 Question Id : 71087010214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& H 911 5T U@ ATGH! F1feq a1 ¢ [ a8 TP e o 31 SoieH & 9l & T @i o1 ofe
EH 50 Hiex St Fafd gt W ol dl ¢ & Wis | il 2

1. 50 Tt / Wfcder
2. 60 T A1, / Ufcden
3. 80 f A1, / ufeden
4, 90 T #1. ; ufada
Options :
71087040769. 1
71087040770. 2
71087040771. 3
71087040772. 4

Question Number : 24 Question Id : 71087010215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A sum of Rs.50,000.00 is invested in a bank deposit for 1 year at an interest rate of 10% per
annum, compounded on a half-yearly basis. What is the amount of interest at the end of 1
year?

1. 5125

2. 5250

3. 5500
45150
Options :
71087040773. 1
71087040774. 2
71087040775. 3



71087040776. 4

Question Number : 24 Question Id : 71087010215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

. 50,000/- B IHH dF H 1 A & 10T 10% UTday o &4s U 991 S 7741 | I8 =0T 44 giftia
YR R UR@Gd BidT & dl 1 91d & 3id H <O1e &1 IdH ol g 2

1. 5125

2. 5250

3. 5500
45150
Options :
71087040773. 1
71087040774. 2
71087040775. 3
71087040776. 4

Question Number : 25 Question Id : 71087010216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the following letter series, what is the next term?

abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. defj
Options :
71087040777. 1
71087040778. 2



71087040779. 3
71087040780. 4

Question Number : 25 Question Id : 71087010216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
7751 31&R1 BT e # 2T U 1 BN
abcf, bedg, cdeh, defi, ___

1. efij

2. efgi

3. efgj

4. def]
Options :
71087040777. 1
71087040778. 2
71087040779. 3
71087040780. 4

Question Number : 26 Question Id : 71087010217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The sequential order of syllogism in Nyaya philosophy is
A. Nigman

B. Udaharana

C. Hetu

D. Upanaya

E. Pratigya

Choose the correct answer from the options given below

1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087040781. 1
71087040782. 2
71087040783. 3
71087040784. 4

Question Number : 26 Question Id : 71087010217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.AECDB
2ZECBAD
3EBCDA
4.D,A B CE
Options :
71087040781. 1
71087040782. 2
71087040783. 3
71087040784. 4

Question Number : 27 Question Id : 71087010218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the sequential order of a comprehensible sentence in Nyaya philosophy
A. Akanksha

B. Yogyata

C. Tatparya

D. Sanniddhi

Choose the correct answer from the options given below

1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087040785.
71087040786.
71087040787.
71087040788.

AW O~

Question Number : 27 Question Id : 71087010218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I GRHRIRE H d1URR 91 @1 hAdGdl [y -
A, STDIET

B. ARG

C. ard

D. Gy
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1.D,C B A
2. A B D,C
3.CD,B A
4.D,C A B
Options :
71087040785.
71087040786.
71087040787.
71087040788.

AW O~

Question Number : 28 Question Id : 71087010219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘To infer rain in the past by perceiving muddy water in the pond’, is

1. PGrvovat anumana

2. Sesvatanuman

3. Both Parvovat anumana and Sesvatanuman
4. Comparison

Options :

71087040789. 1



71087040790. 2
71087040791. 3
71087040792. 4

Question Number : 28 Question Id : 71087010219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dIeiE o $idsygad Ul & Ud § SR 814 &1 Fwhy Ade- & -

1. 94 SFHH
2. R9ad HTHH
3.1 3R 2 gHf
4. il
Options :
71087040789. 1
71087040790. 2
71087040791. 3
71087040792. 4

Question Number : 29 Question Id : 71087010220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The fallacy (hetvabhasha) produced in the conclusion due to the repudiation of Sadhya by
Hetu is known as

1. Savyabhichara
2. Viruddha

3. Satpratipaksha
4. Asiddha
Options :
71087040793. 1



71087040794. 2
71087040795. 3
71087040796. 4

Question Number : 29 Question Id : 71087010220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ed BRI 1 & "ed o BRU [y FdeH $f f6Y UHR &1 eayy $el oldl & ?

1. JAHAR
2. faes
3. gaufdus
4, &g

Options :

71087040793. 1
71087040794. 2
71087040795. 3
71087040796. 4

Question Number : 30 Question Id : 71087010221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are four propositions. Two of them are related in such a way that they cannot be
true, although they can be false. Select the code that states those two propositions

A, All men are honest

B. No men are honest

C. Some men are honest

D. Some men are not honest

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087040797. 1
71087040798. 2
71087040799. 3
71087040800. 4

Question Number : 30 Question Id : 71087010221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Had A 3R B
2. HaAAB AR C
3. ®ad C 3R D
4. FAAA AR D
Options :
71087040797. 1
71087040798. 2
71087040799 3
71087040800. 4

Sub-Section Number : 4
Sub-Section Id : 710870278
Question Shuffling Allowed : Yes

Question Id : 71087010222 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



Consider the data in the given table and answer the questions that follow

The following table is on the Expenditures of Institution (in lakh Rupees) per annum over the

given years
Heads of Expenditure (in lakhs)
Salary  of Interest  on
Year TransportBonuses Taxes
Staff Loan
2015 285 98 3 23.4 83
2076 347 112 2.52 32.5 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 36.4 88
2019 420 14 3.96 494 93

Sub questions

Question Number : 31 Question Id : 71087010223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the average amount of interest per year that the institution had to pay?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087040801. 1
71087040802. 2
71087040803. 3
71087040804. 4



Question Number : 32 Question Id : 71087010224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The total amount of bonus paid by the institution during the given period is approximately
what percent of the total amount of salary paid during this period?

1. -3 %
2. -4 %
3. -7 %
4, -1%
Options :
71087040805. 1
71087040806. 2
71087040807. 3
71087040808. 4

Question Number : 33 Question Id : 71087010225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total expenditure on all these items in 2015 was approximately what per cent of the total
expenditure in 20197

1. 84.63 %
2.58 %
3.91%

4.73 %
Options :
71087040809. 1
71087040810. 2
71087040811. 3
71087040812. 4



Question Number : 34 Question Id : 71087010226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The total expenditure of the institution on these items during the year 2017 is

1. 624.6

2. 524.44

3. 544.44

4. 591.41
Options :
71087040813. 1
71087040814. 2
71087040815. 3
71087040816. 4

Question Number : 35 Question Id : 71087010227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The ratio between the expenditure on taxes for the years 2016 and 2018, is approximately

1. 17:11
2.27:22
3.31:27

4, 19:17
Options :
71087040817. 1
71087040818. 2
71087040819. 3
71087040820. 4

Question Id : 71087010222 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (31 to 35)
Question Label : Comprehension

= 3t 7S IR FT sEEET By iR fSA T aul & Tw & at (@ Ul 7) &7 uiaad
FHURRUN IS :

o0 o Y (@rat 1)
aﬁ 0 .
HHAMG BT | gfaed a9 U R Y G
dod
2015 288 = ta] 3.00 23.4 83
2016 342 112 2.52 325 108
2017 324 101 3.84 41.6 74
2018 336 133 3.68 364 88
2019 420 14 3.96 49.4 98

Sub questions

Question Number : 31 Question Id : 71087010223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T=yT &l ufaay ofied fad=1 =T gl USdl 6 ?

1. 30.50
2. 36.66
3. 39.66
4.41.02
Options :
71087040801. 1
71087040802. 2
71087040803. 3
71087040804. 4

Question Number : 32 Question Id : 71087010224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Sfearad afd o T 5 9199 31 S o U3 YeH 31 ¢ 98 94 3@y ¥ Ued &d dad &1 A
BT ATHIT [T UfRd 8 2

1. -3 %
2 -4 %
3. -7 %
4. -1%
Options :
71087040805. 1
71087040806. 2
71087040807. 3
71087040808. 4

Question Number : 33 Question Id : 71087010225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2015 H 3 9 Hal UR 001 41 §dd o6 2019 & ol Adl &I TTH fdha-1 Hiard o ?

1. 84.63%

2. 58%

3.91%

4. 73%
Options :
71087040809. 1
71087040810. 2
71087040811. 3
71087040812. 4

Question Number : 34 Question Id : 71087010226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2017 AT B HAAGH FA T © -

1. 624.6
2.524.44

3. 544.44

4. 591.41
Options :
71087040813. 1
71087040814. 2
71087040815. 3
71087040816. 4

Question Number : 35 Question Id : 71087010227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ay 2016 2R 2018 H @I & ¥U H {68 T 44l & o BT UId T+ fdhaHT © 2

1. 17:11
2.27:22
3.31:27

4. 19:17
Options :
71087040817. 1
71087040818. 2
71087040819. 3
71087040820. 4

Sub-Section Number : 5
Sub-Section Id : 710870279
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087010228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the full form of the abbreviation loT?

1. International Office of Tourism

2. Internet of Things

3. Internet of Think

4, Instrument of Telecommunication
Options :

71087040821. 1

71087040822. 2

71087040823. 3

71087040824. 4

Question Number : 36 Question Id : 71087010228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
loT Tt &1 gul Y (b BiH) |18 ?

1. SERATAT HIHH HH A
2. 3ee HIp g

3. 32 HHE U@

4. 3EEHe AP CHlnHIGTH
Options :

71087040821. 1

71087040822. 2

71087040823 3

71087040824. 4

Question Number : 37 Question Id : 71087010229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which type of memory holds the computer startup routine?

1. RAM

2. WAN

3. ROM

4. Cache
Options :
71087040825. 1
71087040826. 2
71087040827. 3
71087040828. 4

Question Number : 37 Question Id : 71087010229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AR TUH

2. S=Y U T
3. 3R I TH
4. B
Options :
71087040825. 1
71087040826. 2
71087040827 3
71087040828. 4

Question Number : 38 Question Id : 71087010230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Total number of mobile users in India is increasing rapidly

Reason R: The cost of the mobile is decreasing

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct



Options :

71087040829. 1
71087040830. 2
71087040831. 3
71087040832. 4

Question Number : 38 Question Id : 71087010230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -
HUBHU (A) : HRA & A5 TaRTHdlsi &1 el duil I 96 6l ol
d® (R) : AESd 1 $IFd $H 8l 51 o

IWdd HYHT & et H Fgifdd fddel d I affie 3ugdd 3w 9 -
1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬁ?(m, (A) BT eI SRS T8l o

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

71087040829. 1

71087040830. 2

71087040831. 3
71087040832. 4

Question Number : 39 Question Id : 71087010231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The file extension of Microsoft (MS) Word document in office 2007 is

1. .docx

2. .png
3. .doc

4..jpg
Options :
71087040833. 1
71087040834. 2
71087040835. 3
71087040836. 4

Question Number : 39 Question Id : 71087010231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

31tpY 2007 H HIFHIHIE (THUH) TS SIFgHT B BI5d [GER © -

1. .docx

2. .png

3. .doc

4..jpg
Options :
71087040833. 1
71087040834. 2
71087040835. 3
71087040836. 4

Question Number : 40 Question Id : 71087010232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the binary number for decimal number 97

1. 1100

2. 1001
3.0111

4. 1011
Options :
71087040837. 1
71087040838. 2
71087040839. 3
71087040840. 4

Question Number : 40 Question Id : 71087010232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST G019 B feeR U 1 & 7

1. 1100

2. 1001
30111
41011
Options :
71087040837. 1
71087040838. 2
71087040839. 3
71087040840. 4

Question Number : 41 Question Id : 71087010233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The phenomenon of ozone depletion is caused by

A. Volatile chlorinated hydrocarbons

B. Emissions from thermal power plants

C. Combustion of urban waste

D. Excessive use of nitrogen-containing fertilizers

Choose the correct answer from the options given below:

1. A, B and D only
2. A and D only

3. A, Band Conly
4. A, Cand D only
Options :
71087040841. 1
71087040842. 2
71087040843. 3
71087040844. 4

Question Number : 41 Question Id : 71087010233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HISH URd & &R0 & HRU & -
A, IRl RIRHES giEgidle-

B. YH T UTa iel § Joe

C. 38 d%¢ @I G
D. AT oA HIAF e Bl SATEd UG
=< fGu e foTcal # € U8l SR &1 99 @9 ;

1. Had A, B3R D
2. ®ad A AR D
3. @A A, B AR C
4. HAAA, C3RD
Options :
71087040841 1
71087040842. 2
71087040843, 3
71087040844. 4

Question Number : 42 Question Id : 71087010234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was NOT an issue to be addressed under Millenium Development
Goals?

1. Child mortality

2. Environmental sustainability
3. Human rights

4. Primary education

Options :



71087040845. 1
71087040846. 2
71087040847. 3
71087040848. 4

Question Number : 42 Question Id : 71087010234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafeiaad 3 9 U o1 91 981 e & forad Geuife: Ay aedl & ded SH1YH fardl o T 2

1. RR[ e
2. JgiaRuig SH=gar

3. OHg HfUHR
4, UTYiHe T2ra

Options :

71087040845. 1
71087040846. 2
71087040847. 3
71087040848. 4

Question Number : 43 Question Id : 71087010235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contributions to per
capita emissions of carbon dioxide emissions at present

A. India

B. China

C. USA

D. Japan

Choose the correct answer from the options given below

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087040849. 1
71087040850. 2
71087040851. 3
71087040852. 4

Question Number : 43 Question Id : 71087010235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



FAHH H BTE- SIS3Ha58 Iovi & Ufdadiad ool H GTGH o dld G2 & JHaig HH I
‘\q—fﬂmﬁ usalaﬁ:

A. HIRd

B. A

C. §gad Y 3R

D. SITUH

4 [9@eul § 9 981 IR @1 984 B ;

1.C,D, B A
2B CAD
3.D,B,C A
4.C, B, D A
Options :
71087040849. 1
71087040850. 2
71087040851. 3
71087040852. 4

Question Number : 44 Question Id : 71087010236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In the contemporary environmental discourse, small hydropower plants are
prefered over large hydropower plants

Reason R: Installation of a small hydropower plant is less capital intensive compared to a large
hydropower plant

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087040853. 1

71087040854. 2

71087040855. 3

71087040856. 4

Question Number : 44 Question Id : 71087010236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HYDHYA (A) : GHDICA FaTaRU Tdial H a8 grEsuar Wil W oY gl3e/ular Wil ol adgd
MR

dd (R) : 93 BISSIUIGR Wil &I qo-l § T SI3SIulaR Wicl &I |1 § & Yol o idi & |
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087040853. 1

71087040854. 2

71087040855. 3

71087040856. 4

Question Number : 45 Question Id : 71087010237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Day time noise standard prescribed for residential areas in India is

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087040857. 1
71087040858. 2
71087040859. 3
71087040860. 4



Question Number : 45 Question Id : 71087010237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

URd H fardig &Ff & e g § g R s oM@ & -

1. 75 dB
2.65dB
3.55dB
4.50dB
Options :
71087040857. 1
71087040858. 2
71087040859. 3
71087040860. 4

Question Number : 46 Question Id : 71087010238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Takshashila, an ancient centre for higher learning in India, was declared as a heritage site by
the UNESCO in

1. 1980
2.1982

3. 1984

4. 1986
Options :
71087040861. 1
71087040862. 2
71087040863. 3
71087040864. 4



Question Number : 46 Question Id : 71087010238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

YRd H I SR & W ds & T H T8I @1 G401 gRI fhd I8 H eRIgy ¥ & $U H
Hifyd favar mar 2

1. 1980

2. 1982
3.1984

4. 1986
Options :
71087040861. 1
71087040862. 2
71087040863. 3
71087040864. 4

Question Number : 47 Question Id : 71087010239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Rashtriya Uchchatar Shiksha Abhiyan (RUSA), a Centrally Sponsored Scheme aiming at
providing strategic funding to eligible state higher educational institutions, was launched in

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087040865. 1
71087040866. 2
71087040867. 3
71087040868. 4



Question Number : 47 Question Id : 71087010239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

APTY IR TR A (3R Y TH Q) S U iy Wifod ioHT & 3R forder 3§30 U sy
FeaeR A&t YR h! YR fad GIe0 Y Sl &, BT YHRY B fbdn 7197 o1 7

1. 2010

2. 2011
3.2012

4, 2013
Options :
71087040865. 1
71087040866. 2
71087040867. 3
71087040868. 4

Question Number : 48 Question Id : 71087010240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gross Enrolment Ratio (GER) in higher education is the total enrolment in higher education,
regardless of age expressed as a percentage to the eligible official population in a given
school year. Which of the following age groups explain the eligible official population in this
regard?

1. 16-21 years
2. 17-22 years
3. 18-23 years
4. 19-24 years
Options :

71087040869. 1
71087040870. 2



71087040871. 3
71087040872. 4

Question Number : 48 Question Id : 71087010240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JR & H I AMie- UM (GisHR) Iwda [RI&TH $d 39 FRUs THi$ Ued Tod a4
o U HYSRS o9 G & Uiad & &4 H Hfiedad gidl £ 1 39 Jay ¥ [Rufiad § 4 oH-
1 31 Y98 UH ATEh1RE S &I Gidl & ?

1.16-21 a4
2.17-2234
3.18-2394
4.19-24 7Y
Options :
71087040869. 1
71087040870 2
71087040871, 3
71087040872. 4

Question Number : 49 Question Id : 71087010241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements best describe value education?

A. It is a course in moral science

B. It talks about rewards and punishments for one's own actions

C. Students observe and imitate adult behaviours, particularly that of their parents
D. Students investigate and explore their own inner self

E. It encourages students to fix their place in their life

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
71087040873. 1
71087040874. 2
71087040875. 3
71087040876. 4

Question Number : 49 Question Id : 71087010241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafafad # ¥ ©F 1 5y JoaWRd 16T &1 Gdivs oORe &3l 6 ?

A. TE i ARG H TP UTeUshH o

5. 5 [t cafaa & el sic:fraret 8q ars siRSs Pl e axar &

c. faemif fa<iae 3o Arar-fd & sfadie- @id § 3R 3= 9 Ui oddeR diad g
D. faerdf Tg Siu-t SicR 3111 &1 Sf-uvl 3R @il Hd &

£. U Taentdal ol efuH Siia- # Su=1 =M FiEd o3 & fou uieigd oear g

i feu e famedl # ¥ Gaifte Iugad 3R &l 99 &Y -

1. HAAA, B 3R C
2. @A B, C3RD
3. ®aAC, D 3R E
4. HAAA, D ARE
Options :
71087040873 1
71087040874. 2
71087040875. 3
71087040876 4

Question Number : 50 Question Id : 71087010242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

ICT Human

Resource Development

Initiatives of Ministry of

Their benefits for students and researchers

A, SWAYAM

. To get hands-on experience in embedded
system

B. SWAYAMPRABHA

Il. To get free books and curriculum-based e-
content

C. e-PG Pathshala

. To watch high-quality educational
programmes 24x7

0. e-Yantra

IV. To earn credits through online courses

Choose the correct answer from the options given below:

TA-ILB-IV,C-1,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4A-LB-ILC-1ILD-1V
Options :

71087040877. 1
71087040878. 2
71087040879. 3
71087040880. 4

Question Number : 50 Question Id : 71087010242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0




Tdi-| § 7.4 4. Fared &1 Hgdic! gl @l 3o ol Jai-1l # fenfiar ofR et & fom
3o Ay fer e g -

gal-| ql-1l

A TG . SRS HUTel H gl SHd U &3l
R— %%ﬁmﬂ&ﬁwﬁﬁﬁqﬂ I AR UIEashH U
cx -Ui. <f. 1. 3= T[Ura Hath Q&0 D! Bl 24 x 7
BIREI| [REE)l

D.3- 41 V. AR DY & SR hise U Sl

A feu U fasheal & ¥ 981 SR &1 98- & -

TA-NLB-IV,C-1,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-1L,B-II,LC-1I,D-1V
Options :

71087040877. 1
71087040878. 2
71087040879. 3
71087040880. 4

PART II Psychology
Section Id : 710870246
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92

Number of Questions to be attempted : 92



Section Marks : 200

Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870280
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087010243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following branches of philosophy of science deals with the question of
existence?

1. Post-positivism
2. Structuralism

3. Ontology

4, Scientific realism
Options :
71087040881. 1
71087040882. 2
71087040883. 3
71087040884. 4

Question Number : 51 Question Id : 71087010243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafoiad # 4 o -4t fagH & g2 &1 98 Iral § W1 +ifd & Uuid ¥ Hafdd g 7

1. I U dIg

2. Y3gAEG

3. g ad / Ay fae
4. 3q1® gurdarg
Options :

71087040881. 1
71087040882. 2
71087040883. 3
71087040884. 4

Question Number : 52 Question Id : 71087010244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following terms denotes that there are qualities of experience that cannot be
explained in terms of combinations of traditional kinds of sensations?

1. Zeitgeist

2. Tropism

3. Gestalt Qualitaten
4. Conarium
Options :
71087040885. 1
71087040886. 2
71087040887. 3
71087040888. 4

Question Number : 52 Question Id : 71087010244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Frafifed & 9 oH-8, TRyt g &1 a1 78 § i rve & T8 71 § et samem
RIRFATd UHR ] Sda-13fi & T80 & ¥4 H 7ol & ol 9@di g 2

1. fotefite

2. 3daA

3. TRCTee TUrareH
4. DHREH

Options :

71087040885. 1
71087040886. 2
71087040887. 3
71087040888. 4

Question Number : 53 Question Id : 71087010245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A researcher is studying group process of software startup developers by staying with them
and like them for six months. Which of the following is used by her?

1. Grounded theory

2. Ethonography

3. Narrative analysis

4. Phenomenological research
Options :

71087040889. 1

71087040890. 2

71087040891. 3

71087040892. 4

Question Number : 53 Question Id : 71087010245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uah QYdhdl YIrddR WEs faaiid & ardl & G4 Ulhal &1 H9- B: 918 dP 3461 die
3 UIY TeP: B Yol ol 98 HYRad H 4 fgs Wi e @i g ?

1. U3eS sl

2. Tt oA

3. BYFTHS (G

4, geIdgH S 2y (raAaeiea 2iY)

Options :

71087040889. 1

71087040890. 2

71087040891. 3
71087040892. 4

Question Number : 54 Question Id : 71087010246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Testing the scientific hypothesis is impossible due to the need of auxiliary assumptions. What
is this associated with?

1. Occam’s razor

2. Logical empiricism

3. Duhem—-Quine thesis
4. Incommensurability
Options :

71087040893. 1
71087040894. 2
71087040895. 3
71087040896. 4

Question Number : 54 Question Id : 71087010246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
AT R egH &1 URET Ued YRS &l HaWdhal & SRl 384T 51 I8 fhad

1. 3HlgHy ol

2. Al HHADHT
3. SeH Sredg
4, HOWIA]

Options :
71087040893. 1
71087040894. 2
71087040895. 3
71087040896. 4

Question Number : 55 Question Id : 71087010247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Making decisions by the use of mental short cuts that focus on one aspect of a problem, while
ignoring others refers to which one of the following?

1. Framing

2. Belief perseverance
3. Heuristics

4. Mental set

Options :
71087040897. 1
71087040898. 2
71087040899. 3
71087040900. 4

Question Number : 55 Question Id : 71087010247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
U4 gHNS 1 &e, ol Yo & Uh Ygo R IH disd Bl ¢ Jdid gis el df To3igr
TR &l & @I UG $d 8¢ Hoig &3 9 H § forgd defid 2

1. 99 JYId (Shiti)

2. fayrg S1emaay / 2gdl
3. WM Y JoTel
4. g faag
Options :

71087040897. 1
71087040898. 2
71087040899. 3
71087040900. 4

Question Number : 56 Question Id : 71087010248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A group of sixty newly diagnosed diabetic patients were tested for anxiety using a
standardized inventory. They were retested for anxiety again after months using the same
inventory. The mean difference in anxiety was evaluated by a suitable t-test. The degrees of
freedom associated with the t-test would be

1. 120

2. 118

3.59

4. 58

Options :
71087040901. 1
71087040902. 2
71087040903. 3
71087040904. 4



Question Number : 56 Question Id : 71087010248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

13 AYHE & Afall @] HAGdl URI&01 S YgrIal 9 A9 fadl 711 U HeiH 916 36 Atal &l
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1. 120

2.118

3.59

4.58

Options :
71087040901. 1
71087040902. 2
71087040903. 3
71087040904. 4

Question Number : 57 Question Id : 71087010249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In depth perception, what kind of images are used?

1. Uni-dimensional image

2. Two-dimensional images
3. Three-dimensional images
4. Four-dimensicnal images
Options :

71087040905. 1

71087040906. 2

71087040907. 3

71087040908. 4



Question Number : 57 Question Id : 71087010249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tl U& H food YR o fad Igad fhu od &

1. ThigHg fda
2. fefauig fda
3. B - fds

4. Iqfdig fde
Options :
71087040905. 1
71087040906. 2
71087040907. 3
71087040908. 4

Question Number : 58 Question Id : 71087010250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Total cholesterol is determined by adding which of the following values?

1. HDL + LDL

2.HDL + LDL + 30% OF VLDL

3. HDL + LDL + 10% of VLDL

4. HDL + LDL + 20% of Triglycerides
Options :

71087040909. 1

71087040910. 2

71087040911. 3

71087040912. 4

Question Number : 58 Question Id : 71087010250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Do el o R HufEtad § U fog 91 @1 S R S 9arg 2

1. HDL+LDL

2. HDL+LDL+VLDL T 30%

3. HDL+LDL+VLDL ®T 10%

4. HDL+LDL+ STSReERIZS &I 20%
Options :

71087040909. 1

71087040910 2

71087040911. 3

71087040912. 4

Question Number : 59 Question Id : 71087010251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which approach focussed on the nature of a task and its influence on a person’s ability in
solving problems?

1. Associationist approach

2. Information processing approach
3. Gestalt approach

4. Behaviourist approach

Options :

71087040913. 1

71087040914. 2

71087040915. 3

71087040916. 4

Question Number : 59 Question Id : 71087010251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Fofaiad 9 9 @M - 9 3ur™ (&4l &1 & Wahid TU THS1 GaYH ¥ Jied & Irgal ) 586
UHId &l Bigd fbar 2

1. H|sr4uTth SUITH

2. a1 TR0 3UFTH
3. TRETee JUr™

4, dgRdigl 3UrTH

Options :

71087040913. 1
71087040914. 2
71087040915. 3
71087040916. 4

Question Number : 60 Question Id : 71087010252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Teplov while discussing the strong/weak nervous systems believed that the point of
‘transmarginal unhibition’ is the point beyong which :

1. The magnitude of response decreases as stimulus intensity decreases

2. The magnitude of response increases as stimulus intensity decreases

3. The magnitude of response increases irrespective of stimulus intensity decrease/increase
4. The magnitude of response decreases irrespective of stimulus intensity decrease/increase
Options :

71087040917. 1

71087040918. 2

71087040919. 3

71087040920. 4

Question Number : 60 Question Id : 71087010252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
26 / PHER @l dF DI 99l ®d gU cMaid 4 9F o eiquifeHd siawiy fdg 98 fdg &
g

1. 3ffehd1 DI AT gedl & 7d 3e/ud $I digdl 9edi 8|

2. Je1Ud @I diddl 9e- & TIY Sfshal &l T d6dl e |

3. 3e1Ud @I diddl 9¢ I d¢ 3fhdl &I O 9641 of &

4. JEIU®H &1 9E1 & de- 91 9e- Y fa-1 uyIfad g srfdbal & gE1 gedi 8|
Options :

71087040917. 1

71087040918. 2

71087040919. 3

71087040920. 4

Question Number : 61 Question Id : 71087010253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In multiple approach-avoidance conflict, one has to choose between which of the following?

1. Two goals possessing both negative and positive aspects

2. More than two goals; each having both positive and negative aspects

3. More than two goals; one having negative aspects and others having positive valences

4. More than two goals; at least one having positive aspects while others may have negative
aspects

Options :

71087040921. 1

71087040922. 2

71087040923. 3

71087040924. 4

Question Number : 61 Question Id : 71087010253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

dgfcid SUFTH URER &5 | ®ls Hiad HgiaRad § fedd did g1 eag ?

1. TORIES AR GHRIED aH Yol § god &l 9&d

2. a1l 9 3fd deg; o T udd ¥ UeRIES AR 96RIES aiHl Ued aid gl

3. 6l edl ¥ 3@ : 370 U Udh & TPRIE® Uad.e 3R gut dedl & JPRIES Yaoid & |

4.5 981 4 AP ; $9-U-5H Us A&l & IHRIAD Uadl & waich 34 aedl & TeRIAD Uad
ARG

Options :

71087040921. 1

71087040922. 2

71087040923. 3

71087040924, 4

Question Number : 62 Question Id : 71087010254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following models proposes that there are three major functional units of the
brain: focussing on sustaining attention; receiving and storing information and planning and
self-monitoring?

1. PASS model

2. Kar and Parrila's model

3. Atkinson and Shiffrin model
4, Hunt's model

Options :

71087040925. 1

71087040926. 2

71087040927. 3

71087040928. 4

Question Number : 62 Question Id : 71087010254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fafafea & 9 oF - o1 fasia g8 ufquifed &1 § & afaw & diF 79E veaids sosdl &
: I §HIE TG R DRIDH BT AR THH S, AR FieH] &1 R T FIRM 2

1. U9 HISd

2. BR 3R RS FTHISA

3. Teldh g 3R It &1 Alsa
4 g HIHSA

Options :

71087040925. 1

71087040926 2

71087040927. 3

71087040928. 4

Question Number : 63 Question Id : 71087010255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
For an intelligence test in an educational setting, which of the following difficulty value shows
maximum discrimination?

1.0.8

2.06

3.05

4.0.3

Options :
71087040929. 1
71087040930. 2
71087040931. 3
71087040932. 4

Question Number : 63 Question Id : 71087010255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Qe e ¥ §fE udiem & fou FafdRad § T &19-91 $i391 91 ey [duey axfdr g 2

1.0.8

2. 0.6

3.05

4.0.3

Options :
71087040929. 1
71087040930. 2
71087040931. 3
71087040932. 4

Question Number : 64 Question Id : 71087010256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What do you call the attention that is drawn automatically to a stimulus without the intention
of the participant?

1. Divided attention

2. Shadowing

3. Endogenous attention
4. Exogenous attention
Options :

71087040933. 1
71087040934. 2
71087040935. 3
71087040936. 4

Question Number : 64 Question Id : 71087010256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
Ui & Sy & fa1 fedt 3Eiuc &1 3R T9a: Féd S 91el g 31 dgddl g 2

1. TdYad gy=
2. SHEIHE
3. fdald aY™

4, gigeiid 3fae
Options :
71087040933. 1
71087040934. 2
71087040935. 3
71087040936. 4

Question Number : 65 Question Id : 71087010257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Jensen put forward the "Regression’ argument to account for which of the following?

1. To understand inter-generation changes in intellegence
2. To understand intra-generation changes in intelligence
3. To understand group differences in intelligence

4. To understand the role of genetics in intelligence
Options :

71087040937. 1

71087040938. 2

71087040939. 3

71087040940. 4

Question Number : 65 Question Id : 71087010257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oA 5 FEfaRed 7 O (59® R 9dF & U Uiiie T 96 &) 9 3T 2

1. 9f& & o TIEHTd SR &I TH3HAT

2. gf@ & 3R Uil 7Td SR B A
3. dfg & i gl # 3idx &1 gHgHl

4. 9 # aRRID! B YEDT B FHSAT
Options :

71087040937. 1

71087040938. 2

71087040939. 3

71087040940. 4

Question Number : 66 Question Id : 71087010258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the retention without conscious recollection of skills and dispositions called?

1. lconic memory

2. Implicit memory
3. Explicit memory
4. Semantic memory
Options :
71087040941. 1
71087040942. 2
71087040943. 3
71087040944. 4

Question Number : 66 Question Id : 71087010258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



DI B Ydad GHid & a1 ufauro 3R ygfy #1 deadi s -

1. Ui e Hid

2. U d Wi

3. oOad Hid
4. 3 b Hid

Options :

71087040941. 1
71087040942. 2
71087040943. 3
71087040944. 4

Question Number : 67 Question Id : 71087010259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following is credited with proposing the investment theory of creativity?

1. Gatzels and Jackson
2. Kaufman

3. Wallach and Kogan
4. Sternberg

Options :
71087040945. 1
71087040946. 2
71087040947. 3
71087040948. 4

Question Number : 67 Question Id : 71087010259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeiad 5 O fod guras & Hawl Rsid & wiaure &3 &1 99 Sl & 2

1. Teoicd 3R S@gd
2. BIHEA

3. AIAd 3R HFH
4, TAa

Options :
71087040945. 1
71087040946. 2
71087040947. 3
71087040948, 4

Question Number : 68 Question Id : 71087010260 Question Type : MCQ Option Shuffling : No Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Client: (Silent and shifting nervously in her chair. She is facing the counselor, but her eyes scan
anxiously about)

Counselor: It must be difficult for you to decide what you are going to do here with me
This response is an example of:

1. Dealing with content speculated to be motivating for non-verbal behaviour by the
counselor

2. Encourages to deal with non verbal behaviour

3. Encourages to understand the feelings

4. Reflection of feelings

Options :

71087040949. 1

71087040950. 2

71087040951. 3

71087040952. 4

: Yes Is



Question Number : 68 Question Id : 71087010260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ardf : [ JuaTd SR O FUT TR SR TR R - SR BRell 53| I8 WIHRIGTd & W &
W I W faf<d i gef gef gl &1

WRIHRIEHT : GH U1 Sl 5 91y &3 ol 61 €, 39 Say H f0ig o1 %R i &ie- g
Tg ufaferar fpg®1 Jareiu 8 :

1. TRARIEIAT §RI 3ea® oHagR & (AU HHURGT B ard AT [dvg=arg & 91y o
B

2. A¥fead WdeR 4 Fued & AU IdEda®

3. UIEH13! & 99gH & O Ideda®

4, a1l & ufafaffad A

Options :

71087040949. 1

71087040950. 2

71087040951 3

71087040952. 4

Question Number : 69 Question Id : 71087010261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In Bronfenbrenner's model, which one of the following systems is independent of cultural
bias?

1. Micro system
2. Meso system
3. Exo system

4. Macro system
Options :
71087040953. 1



71087040954. 2
71087040955. 3
71087040956. 4

Question Number : 69 Question Id : 71087010261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S-b-R & Alsd H FHgfaRad 5 9 @14 9 guicl gikbidd sitHfd 8 Wad e 2

1. AP YOIl
2. He Tl
3. dTel JuITeit
4, AP Ut
Options :
71087040953 1
71087040954, 2
71087040955 3
71087040956. 4

Question Number : 70 Question Id : 71087010262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A harsh father always restricts the curiosity motive of his son and the son develops a general
hostility towards his superiors. Which of the following is correct about this?

1. The father represses the curiosity
2. Such change is permanent

3. It is the most modifiable response
4. It is conditioned hostility

Options :

71087040957. 1

71087040958. 2



71087040959. 3
71087040960. 4

Question Number : 70 Question Id : 71087010262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T T U1 Y- G & Il HTHIR Bl SHEN Haes ®dl & HR G 30 daREl & ufd
T R fasid $R ddl 81 99 ddy § Fafafad f U | gl g 2

1. TU GBI ST &HA B B

2. U1 URaa =i B

3. U8 Yall® TUiaruig Hihal g
4. T AEUd R e

Options :

71087040957. 1

71087040958. 2

71087040959. 3

71087040960. 4

Question Number : 71 Question Id : 71087010263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following principle is violated when a psychologist intentionally misrepresents his
research results?

1. Beneficence

2. Fidelity and responsibility
3. Integrity

4. Confidentiality

Options :

71087040961. 1
71087040962. 2



71087040963. 3
71087040964. 4

Question Number : 71 Question Id : 71087010263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
5 B3 FAIGT® AHeHHR 0 Ly ufumt & Tod qidr g, of Fafafed & € feg el
B Jeg Bl & ?

1. T4l

2. 81 3R Iavaiita
3. IAiEr

4. TY=Tgar

Options :
71087040961. 1
71087040962. 2
71087040963. 3
71087040964. 4

Question Number : 72 Question Id : 71087010264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Lazarus, what comes between the stimulus and emotional response to that
stimulus to mediate?

1. Physiological reactions

2. Labeling

3. Social and situational cues
4. Cognitive appraisal
Options :

71087040965. 1

71087040966. 2



71087040967. 3
71087040968. 4

Question Number : 72 Question Id : 71087010264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TOIRY & HTHR JeUd AR 39 Uid HIaHTED HHAl & Hdddl H1 8 ?

1. ARIRD widfseand

2. AHDHIY (cisifei)

3. TS R uRRYae Ydd
4. YAFTHD HGih

Options :

71087040965. 1

71087040966. 2

71087040967. 3

71087040968. 4

Question Number : 73 Question Id : 71087010265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Vaibhasika and Sautrantika are associated with which of the following?

1. Theravada

2. Cetasikas

3. Madhyamikavada
4, Sarvastivadin
Options :
71087040969. 1
71087040970. 2
71087040971. 3
71087040972. 4



Question Number : 73 Question Id : 71087010265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JUI® SR We~e Fafded A ¥ fead 99 @ 2

1. dETG
2. DDl
3. i dig

4. gdlgaargl!
Options :
71087040969. 1
71087040970. 2
71087040971. 3
71087040972. 4

Question Number : 74 Question Id : 71087010266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the famous experiment by Schacter and Singer involving epinephrine, what was found to
govern the emotions?

1. Perceptual cues only

2. Social appraisal only

3. Both cognitive appraisal and physiological arousal
4. Both cognitive and social appraisal

Options :

71087040973. 1

71087040974. 2

71087040975. 3

71087040976. 4



Question Number : 74 Question Id : 71087010266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TOHBTE Yeel e SR TR N1 fit U Uile Wi & yia-=rel &f &1 (O &edl o 1

1. Had HaaIUTHD Hdbd

2. had YIS ddbd

3. GFTES el SR ARG edidA gl
4. YIS AR GHIfSE Hedic Gl

Options :

71087040973. 1

71087040974, 2

71087040975. 3

71087040976. 4

Question Number : 75 Question Id : 71087010267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the correct response pattern for the semantic differential test to
measure a trait ‘active'?

1.1 am active: SA AN D SD

2. | am active: True/False

3. Choose one: Active-Trusting
4, Active...Meutral...Passive
Options :

71087040977. 1

71087040978. 2

71087040979. 3

71087040980. 4



Question Number : 75 Question Id : 71087010267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fafaiad ¥ 9 ©F -4 U ig Ul & AU & o sary faug faudia gia &1 9gl sHfhan
UEUE?

1. HUHIAE:SA A N D SD

2. HWBIE : el / Ted

3. 984 Difelt : Th 1Y - faya-ig
4.FHY .. dc™ ... [E6g
Options :

71087040977. 1

71087040978. 2

71087040979. 3

71087040980. 4

Question Number : 76 Question Id : 71087010268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is the correct description of Old Fashioned Racism?

1. A contemporary form of antagonism towards a racial group based on prejudice and values
rather than on self-interest

2. Beliefs in which racial superiority, segregation and formal discrimination

3. Attitude towards a racial group, combing egalitarian social values and negative emotion
resulting in avoidance of that group

4. Well learned sets of association that can be automatically activated, uncontrollable and
unintentional

Options :

71087040981. 1

71087040982. 2
71087040983. 3



71087040984. 4

Question Number : 76 Question Id : 71087010268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafafad & T R yeifddre & $1H 91 96l duH § ?

1. Tl uefal W & Ui 31U+ 8d & 9 yaids SR gedi W ATHRd widgf-ar & 9aeieH
=0

2. faayrg forad uofaTTa 4, SierTa 3R T Uids YeHd 8id &

3. Ut OHg & uid g s SadHc® el 3R AGRIES HIaHT gidl & forbd
URUMHEREY 34 THg @1 URER fodl Jarg |

4. giggd & =31 die FId TH=d [ WiHifde ¥u ¥ SHdfd 3R Igxaried ¥4 4 fbarfid
RIS

Options :

71087040981. 1

71087040982. 2

71087040983. 3

71087040984, 4

Question Number : 77 Question Id : 71087010269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is an attitude measure that places a single adjective in the centre of an
even number of numerical values?

1. Edward scale

2. Thurstone scale

3. Stapel scale

4, Semantic differntial scale
Options :



71087040985. 1
71087040986. 2
71087040987. 3
71087040988. 4

Question Number : 77 Question Id : 71087010269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fgfafaa o O 98 SH-a1 fiyghy auq, foad Jenas 9H &f 99dE & 99 Uh [dR90) 3@l
WAl s ?

Options :

71087040985. 1
71087040986. 2
71087040987. 3
71087040988. 4

Question Number : 78 Question Id : 71087010270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered as correct for Poverty Gap?

1. Gap between Rich and Poor

2. Gap between developed and developing nations

3. Difference between poverty line and actual income level of all those living below that line
4. Gap in the infrastructure facilities between developed nations

Options :

71087040989. 1



71087040990. 2
71087040991. 3
71087040992. 4

Question Number : 78 Question Id : 71087010270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafafad 3 9 g Tl & 3{dX &I 91 9w JH1 odl 67

1. 3HR 3R e & a1 BT A

2. Topfid iR feraeid o & 99 W

3. TRIE @1 @1 9T, TRI6! S 59 3@ & H1d si-are 94 Sfgadl &1 aRdide 1 R H A=<
4, TaP T &= & 919 AYRYT Y13 ST giaeref § ofa?

Options :

71087040989. 1

71087040990. 2

71087040991. 3

71087040992 4

Question Number : 79 Question Id : 71087010271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following conducted one of the most famous and controversial experiments
in the area of obedience?

1. Sherif

2. Asch

3. Milgram

4, Cialdini
Options :
71087040993. 1
71087040994. 2



71087040995. 3
71087040996. 4

Question Number : 79 Question Id : 71087010271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frafaiad 4 § oo snyeidal & &7 # galive Uis R faarerae wgr # 9 ue v faar

1. ARG

2. U9

3. fAgam

4, TogmfsA
Options :
71087040993. 1
71087040994. 2
71087040995. 3
71087040996. 4

Question Number : 80 Question Id : 71087010272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Immediately after an action potential, the cell does not produce another action potential due
to

1. Absolute refractory period
2. Relative refractory period
3. Resting state

4. Active state

Options :

71087040997. 1

71087040998. 2



71087040999. 3
71087041000. 4

Question Number : 80 Question Id : 71087010272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hishy HTead & T &g DID] ___ & HRU gHLl Hehig HHIAl Idd Tl Bl ¢

1. FUE suade 3afy
2. gIUg 3fuddad Hafd
3. AR i fRufa

4. gichg =T
Options :

71087040997. 1
71087040998. 2
71087040999. 3
71087041000. 4

Question Number : 81 Question Id : 71087010273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following attitude scaling methods is especially unsuitable for scaling a large
number of attitude statements?

1. Paired comparison

2. Equal appearing intervals
3. Summated ratings

4. Successive intervals
Options :

71087041001. 1
71087041002. 2
71087041003. 3



71087041004. 4

Question Number : 81 Question Id : 71087010273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dgd ffte ifHgide HyHl ®1 A0l & e Fe | 9 o 9t siftgd Aru faft fafyaa
UG & |

1. @ a1 fafg

2. YHTGET 31 fafd
3. g 3

4, ITRITR R
Options :

71087041001. 1
71087041002. 2
71087041003. 3
71087041004. 4

Question Number : 82 Question Id : 71087010274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Door in the Face Technique is based on which tactics of compliance?

1. Tactics based on reciprocity

2. Tactics based on commitment or consistency
3. Tactics based on friendship or liking

4. Tactics based on scarcity

Options :

71087041005. 1

71087041006. 2

71087041007. 3

71087041008. 4



Question Number : 82 Question Id

: 71087010274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

el sg &+ Yad! faf¥ (Door in Face Technique) 3UTAH & 69 dd-a] G HIURA & 2

1. TRl R 41T giad

2. Ui dl O 9rad W 141id gfad

3. TrzaT a1 Ui WR amuTid giad
4, T R g gia

Options :

71087041005. 1

71087041006. 2

71087041007. 3

71087041008. 4

Question Number : 83 Question Id

: 71087010275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which neurotransmitter is helpful

1. Acetylcholine
2. Glutamate

3. GABA

4. Dopamine
Options :
71087041009. 1
71087041010. 2
71087041011. 3
71087041012. 4

Question Number : 83 Question Id

in synaptic plasticity?

: 71087010275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

fgfaiad o O oF-91 dfe s ffhe wiRefad d s § 2

1. UHfeSTpIeH
2. TeHe

3. 71l

4. SIUIfEA
Options :
71087041009. 1
71087041010. 2
71087041011. 3
71087041012. 4

Question Number : 84 Question Id : 71087010276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which technigue of studying the brain involves injecting the patient with radioactive glucose?

1. EEG

2. MRI

3. PET

4. CT
Options :
71087041013. 1
71087041014. 2
71087041015. 3
71087041016. 4

Question Number : 84 Question Id : 71087010276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HiETSs & LA &l D - dl dd-id | W H [afdruric iqaie & g -1 MiEa @ 2

1.3 59l

2. TH 3R 313
3.UIg e

4. Gt
Options :
71087041013 1
71087041014, 2
71087041015 3
71087041016. 4

Question Number : 85 Question Id : 71087010277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does 'Absolute Poverty' mean?

1. Poverty in terms of absolute number of people

2. Poverty in terms of prevailing price level

3. Poverty in terms of absolute level of umemployment
4. Basic minimum calorie requirement

Options :

71087041017. 1

71087041018. 2

71087041019. 3

71087041020. 4

Question Number : 85 Question Id : 71087010277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



quf TRl &1 1 S

1. quicn TR1d <Rl &bl TRedl & &4 H T
2. GaHH Heg &R & &4 H el

3. SRIGATRT & QUi &R & ¥4 § TRid

4. §ATE TATH bRl B HTahhdl
Options :

71087041017. 1

71087041018. 2

71087041019. 3

71087041020. 4

Question Number : 86 Question Id : 71087010278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What do you call the neurological procedure involving the implantation of a medical device
under the skin in the chest that sends electrical impulses to electrodes surgically placed in the
specific location in the brain?

1. Deep Brain Stimulation (DBS)

2. Repetitive Transmagnetic Stimulation (rTMS)
3. Electroconvulsive Therapy (ECT)

4. Vagus Nerve Stimulation (VNS)

Options :

71087041021. 1

71087041022. 2

71087041023. 3

71087041024. 4

Question Number : 86 Question Id : 71087010278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U FARcaiEar forad S ®f @ & Hidr e 918 &1 SR fegn 51 g, o Ao
& ORIy =y R e e grr =iftd faggay &t faggedig omaw d9ar 8, 39 o1 el 9idl &

?

1. 76 "Ik Jeud

2. GG gD S0
3. faggd smurd fafb

4, ITE AT JE A
Options :

71087041021. 1
71087041022. 2
71087041023. 3
71087041024. 4

Question Number : 87 Question Id : 71087010279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Antiduretic hormone (ADH) is released by which of the following?

1. Adrenal cortex

2. Adrenal medulla
3. Anterior pituitary
4. Posterior pituitary
Options :
71087041025. 1
71087041026. 2
71087041027. 3
71087041028. 4

Question Number : 87 Question Id : 71087010279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Udtegifes gHiF 19 H 9 &gl J Fifad gidi g 2

1. HqaD Tepe
2. Hfeigad Hgd
3. qdadi digfiier
4, Uy UigfueT

Options :

71087041025. 1
71087041026. 2
71087041027. 3
71087041028. 4

Question Number : 88 Question Id : 71087010280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is the correct explanation of "An intolerance for weakness, a punitive
attitude and submissive respect for their in-group authoerities as reflected in their agreement"?

1. Social Dominance QOrientation
2. Ethnocentrism

3. Conformity

4. Inequality

Options :

71087041029. 1

71087041030. 2

71087041031. 3

71087041032. 4

Question Number : 88 Question Id : 71087010280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"HHGRI & (T AW, TSIHd HHg R Ferid H gumidiaiad g & ARSIl &
o 79 / FeR gmF Fafafad ¥ 4 foge! 98 i & 2

1. YIS UH@REdl
2. Jellfcidig

3. A&

4, EHFC]

Options :
71087041029. 1
71087041030. 2
71087041031. 3
71087041032. 4

Question Number : 89 Question Id : 71087010281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who believed that meaning in life can be uncovered by creative, experiential and attitudinal

values?

1. Rollo May

2. Victor Frankl

3. Friedrick Nietzsche
4, Jean Paul Sartre
Options :
71087041033. 1
71087041034. 2
71087041035.3
71087041036. 4

Question Number : 89 Question Id : 71087010281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



afeRad # © forgs! 7171 1 foh wilaa H o &1 goHd® AHadD 3R AHgRios 3ol 9
GH ol 9l & ?

1. 3@ o

2. [aFx
3. Ihsid A
4. 591 Uid 91d
Options :
71087041033. 1
71087041034. 2
71087041035. 3
71087041036. 4

Question Number : 90 Question Id : 71087010282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following has laid emphasis on examining the relationship of culturally
specific practices with development?

1. Piaget

2. Fodor

3. Vygotsky

4. Kohlberg
Options :
71087041037. 1
71087041038. 2
71087041039. 3
71087041040. 4

Question Number : 90 Question Id : 71087010282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad o 4 foa- Opi - ARy vaoq! @ Ao & 91y dede & Oa0 R 90 Ga g ?

1. ot

2. BISR

3. DI

4. Dlge
Options :
71087041037. 1
71087041038. 2
71087041039. 3
71087041040. 4

Question Number : 91 Question Id : 71087010283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are considered in favour of scientific realism?
A. Corroboration

B. Empiricism

C. Miracle argument

D. Selective optimism

Choose the correct answer from the options given below:

1. A and B only

2. B and D only
3.B and Conly

4. A, Cand D only
Options :
71087041041. 1



71087041042. 2
71087041043. 3
71087041044. 4

Question Number : 91 Question Id : 71087010283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fafeied 9 € few - 59 ol a9ie gurde & ug & e S g 2
A. TP

B, AHld®

C. IHDR D

D. TGATEHD TG

Fufeiad fdm el § ¥ Faiide 3ugad 3w g :

1. Had A 3R B

2. ®HaA B AR D

3. ®HaAB AR C

4. FFAA, C3RD
Options :
71087041041, 1
71087041042, 2
71087041043, 3
71087041044 4

Question Number : 92 Question Id : 71087010284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In the independent groups' design, selective subject loss occurs because of which of the
following?

A. Subjects are lost differently across conditions

B. Subject characteristics are responsible for subject loss
C. Subjects are lost uniformly across conditions

D. Subject characteristics are independent of subject loss
Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and D only
4. Cand D only
Options :
71087041045. 1
71087041046. 2
71087041047. 3
71087041048. 4

Question Number : 92 Question Id : 71087010284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



WA g el § Faffad 7§ 9 i orot ¥ 9ofd ool e e 2
A. Tt Ruforat F ufgwmh fira - fim SRl 9 fFed oid &)

. UfervTit & siftrrarr ufawrht & Fiaa 9H & o Swer 8id 2

c. g4 Rufegl & wiauri teeaH &U 9 Had |d 8|

D. UfdHI & Siftrciafn ufayril g1+ € Wds 8

Fafeiad famedl § ¥ 3ugad 3w 9+ :

1. Had A 3R B
2. Had A AR C
3. @AAB AR D
4. &ad C AR D
Options :
71087041045, 1
71087041046. 2
71087041047, 3
71087041048. 4

Question Number : 93 Question Id : 71087010285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following personality test/s employ/s a ‘Lie’ scale?
A. Rotter's Locus of control scale

B. Eysenck Personality Profiler

C. Minnesota Multiphasic Personality Inventory-2

D. Edwards Personal Preference Schedule

Choose the correct answer from the options given below:

1. C only

2. B and C only

3. A, B and D only
4. B, Cand D only
Options :
71087041049. 1
71087041050. 2
71087041051. 3
71087041052. 4

Question Number : 93 Question Id : 71087010285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e cafdam vl & 3 g & - g A @1 wa eiar |
A. R B T HEd A1gE

B. HTguich odidatd ISR

c. g AR Bive afead s - 2

D. U5ars Td-a ey ¥ga

FrafaRad deedl 9 9 98l ST &1 994 31

1. ®gd C

2. Paa B3R C

3. Bad A, B3R D
4, &da B, C AR D
Options :
71087041049. 1
71087041050. 2
71087041051, 3
71087041052. 4

Question Number : 94 Question Id : 71087010286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are involved in decreased food intake and weight loss?
A Insulin

B. Leptin

C. Cholecystokinin

D. Orexin

Choose the correct answer from the options given below:

1. A and B only

2. A, Band Conly
3. A, B and D only
4. B, Cand D only
Options :
71087041053. 1
71087041054. 2
71087041055. 3
71087041056. 4

Question Number : 94 Question Id : 71087010286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



oA B @S H Bl Yl Afdd d do- b ge- d FE d U T I sid & 2
A, 3gfeiH

B. T

C. PRI fa

D. SR

Fafeiad famedl § ¥ 3ugad 3w 9+ :

1. Had A 3R B

2. BAAA, B3R C
3. ®AA A, BIARD
4. HadA B, C AR D
Options :
71087041053. 1
71087041054. 2
71087041055. 3
71087041056. 4

Question Number : 95 Question Id : 71087010287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following character strengths are included in the VIA classification of strengths?
A. Creativity

B. Forgiveness

C. Resilience

D. Prudence

Choose the correct answer from the options given below:

1. A, B and C only
2.D,Cand A only
3. A, B and D only
4. A and C only
Options :
71087041057. 1
71087041058. 2
71087041059. 3
71087041060. 4

Question Number : 95 Question Id : 71087010287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



IRES 31 FafiiEd 7 4 oF -oF 9 faevan afdd & vi A affoo J e @ 2
AGSATHD

B.&MHI

cufawhe

D faaaiteral

Fafeiad fdsedl § ¥ 3ugdd SR gHu:

1. HAAA, B 3R C
2. @adD, C 3R A
3. ®AA A, BIARD
4. HAAA 3R C
Options :
71087041057. 1
71087041058. 2
71087041059. 3
71087041060. 4

Question Number : 96 Question Id : 71087010288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following internal roadblocks to effective listening is exemplified by the
statement "We have never done it that way before"?

A. Resistance to change

B. Halo Effect

C. Stereotyping

D. Hearing only, not feeling

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 A B CandD
Options :
71087041061. 1
71087041062. 2
71087041063. 3
71087041064. 4

Question Number : 96 Question Id : 71087010288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g0 39 39 ofY © ugd i 781 fhar g1+ 39 &y= € yyIadl Waa | Fefafad s A
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A. URdAH & Uid UfeRle

B. JRAR UHIa

C. &g Uey

D. thad AT 3R HEGH ol Bl
Fafeiad famedl § ¥ 3ugad 3w 9+ :

1. Had A

2. Had A AR B

3. @A A, B AR C
4. A B,C3HRD
Options :
71087041061. 1
71087041062. 2
71087041063. 3
71087041064. 4

Question Number : 97 Question Id : 71087010289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Adult neurons rely heavily on which of the following?

A. Glucose

B. Protein

C. Potassium

D. Sodium

Choose the correct answer from the options given below:

1. A only

2. A and B only
3.Cand D only

4. A, Cand D only
Options :
71087041065. 1
71087041066. 2
71087041067 3
71087041068. 4

Question Number : 97 Question Id : 71087010289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



O Ao - BT (g2H) Faffad & 9 foud gaifie snfdd sars

A. @S
B. UieH

C. giefrga
D dIfsaH
Fafeiad fdsedl § ¥ 3ugdd SR gHu:

1. Had A

2. Had A AR B

3. ®ad C 3R D

4. FAAA, C3RD
Options :
71087041065. 1
71087041066. 2
71087041067. 3
71087041068. 4

Question Number : 98 Question Id : 71087010290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following were considered to be appropriate for psychological study by Wundt?
A. Analysis of cultural products

B. Higher mental processes

C. The totality of psychological phenomena

D. Self-observation

E. Physiological type of experimentation

Choose the correct answer from the options given below:

1. B, C and D only
2.B,C, D and E only
3. A, DandE only

4. A C DandE only
Options :
71087041069. 1
71087041070. 2
71087041071. 3
71087041072. 4

Question Number : 98 Question Id : 71087010290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



43 aR1 % | € {68 A-a9e 9y gq Shad 9 11 ?
A. GiEpid® IdTGl &1 [gzyu

B. SR AT Uigand

C. FHIdFiI-® T3 &I Hguidl

D. 3T - FAfkemr

£. RIS YR 1 YD
Fafeiad fdsedl § ¥ 3ugdd SR gHu:

1. ®ga B, C AR D
2. PadB, C, D 3R E
3. Bad A, D IRE
4, HIAA, C, D3IRE
Options :
71087041069. 1
71087041070. 2
71087041071, 3
71087041072. 4

Question Number : 99 Question Id : 71087010291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The cognitive theory contends dependency behaviours to be arising, from and being
maintained by cognitive distortions and maladaptive thought processes.

Which of the following are associated with cognitive distortions?
AL Availability

B. Hindsight bias

C. Flexible attribution

D. lllusion of control

Choose the correct answer from the options given below:

1. A, B, Cand D only
2. A, Band Conly
3.B,Cand D only

4. Cand D only
Options :
71087041073. 1
71087041074. 2
71087041075. 3
71087041076. 4

Question Number : 99 Question Id : 71087010291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



U] Sid & SR WA HaeR SIS SHHEGIRN 9l giidad [ddr fshar H
AT AR HRRIEd gidl 5| FEfaRed & ¥ @ daHee i ¥ gefita g 2

A JUddedl

B.OYEY HILH

C ddd UIRIY0T
D. Fd=u &1 YA

Fafeiad fdsedl § ¥ 3ugdd SR gHu:

1. BadAA, B, C3fR D
2. ®ad A, B3R C

3. ®aAB, C3RD
4. &ad C AR D
Options :
71087041073. 1
71087041074. 2
71087041075. 3
71087041076. 4

Question Number : 100 Question Id : 71087010292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is true about Hypovolemia?

A. It causes thirst

B. It increases the blood pressure

C. Angiotensin is released during this condition

D. The volume of blood increases

E. Blood pressure reduces

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3. A, DandE only
4. B, Cand D only
Options :
71087041077. 1
71087041078. 2
71087041079. 3
71087041080. 4

Question Number : 100 Question Id : 71087010292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gIsuldicTal & dey A Faftied § S qr g8l g 2
A, THY WY T §

B. I8 ¥adaId §gIdl o

c 34 fRufy 7 i anfad gar 2

D. SUH Yad &I AF §gdl o

E. 39H Igd 919 U< 9dl &
Frafafad fasedl § ¥ Suged I gHU

1. HAAA, B 3R C
2. Had A C3IX E
3. ®AAA D IARE
4. HadA B, C AR D
Options :
71087041077. 1
71087041078. 2
71087041079 3
71087041080. 4

Question Number : 101 Question Id : 71087010293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the parts of mental logic theories of reasoning?
A. A set of interference schemas

B. Accumulation of concepts

C. A reasoning program

D. A set of pragmatic principles

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087041081. 1
71087041082. 2
71087041083. 3
71087041084. 4

Question Number : 101 Question Id : 71087010293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafaiad # § 59 ab & A-1-ad Haid & 4§ 2
A. B a1 @1 fa=arg

5. GEIdl B HdgA

C. T BriHH

D. TG il o1 fa=ard

fFrafaad faeedl # 9 yalfte Iuged 3w a4 -

1. HAAA, B 3R C
2. ®HaA A, B3R D
3. ®aAA A, C3HRD
4. HadA B, C AR D
Options :
71087041081. 1
71087041082. 2
71087041083, 3
71087041084. 4

Question Number : 102 Question Id : 71087010294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which is true about coefficient alpha?

A. It is a lower bound of a test of parallel items

B. It is an upper bound of a test of parallel items

C. It is an average of all combination of split-half reliabilities
D. It is independent of inter-item correlations

Choose the correct answer from the options given below:

1. C only

2. A and B only
3. A and C only
4. Cand D only
Options :
71087041085. 1
71087041086. 2
71087041087. 3
71087041088. 4

Question Number : 102 Question Id : 71087010294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TN bl b AR H Y M IE 8 ?

A. T8 THMIGR TSI & URem of Fgar I g

B. Ug THMIGR UHi & IRE B FeAoR T 3

C. U5 SHdiaHIeH fasa-rgaradl & oo g &1 o19d &
D. T% 3i=: Thi¥ Hg4ayl ¥ Wad ¢

Fafeiad famedl § ¥ 3ugad 3w 4 :

1. %ad C

2. Had A AR B
3. @A A AR C
4. ad C AR D
Options :
71087041085. 1
71087041086. 2
71087041087. 3
71087041088. 4

Question Number : 103 Question Id : 71087010295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true about Unity Thema?
A. It is a compound of interrelated needs linked to press

B. It is a compound of conflicting needs linked to press

C. It operates largely as an unconscious force

D. It operates largely as a conscious force

Choose the correct answer from the options given below:

1. A, B and C only
2. A and C only

3. A and D only
4. B and D only
Options :
71087041089. 1
71087041090. 2
71087041091. 3
71087041092. 4

Question Number : 103 Question Id : 71087010295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g A G e pyRi H e P U HEI € 2

A. U8 a4 9§ Sl 3faydied savadbars & 5= ¢ |
B. U8 Gl4 U Tl WRERIGRIH SHaxgddisi & 994 |
C.Og U TR W 3fdd- 50 & ©U H B Bl 6

D. U STU® GR R dd 50 & ©U H B Bdl 6
Fafeiad famedl § ¥ 3ugad 3w 9+ :

1. Bad A, B 3R C
2. Had A 3R C
3. PAAA R D
4, B3 B AHR D
Options :
71087041089. 1
71087041090. 2
71087041091, 3
71087041092. 4

Question Number : 104 Question Id : 71087010296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What comprises haptic perception?

A. Shape

B. Size

C. Volume

D. Identity

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand D only
3.B,Cand D only
4. A, B and D only
Options :
71087041093. 1
71087041094. 2
71087041095. 3
71087041096. 4

Question Number : 104 Question Id : 71087010296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ey P A Y S S Pl B -
A. ST

B. HIBHR

C. SRIGH/ HIEAT

D. AREHdI

Fafeiad fdeedl § ¥ 3ugdd 3w gHu:

1. HAAA, B 3R C
2. ®@ad A, C 3R D
3. ®aAB, C3RD
4. HAAA B3R D
Options :
71087041093. 1
71087041094. 2
71087041095. 3
71087041096. 4

Question Number : 105 Question Id : 71087010297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are the components of Metacognition?
A. Metacognition knowledge

B. Metacognition experience

C. Metacognition control

D. Metacognition regulation

Choose the correct answer from the options given below:

1. A and B only

2. A and D only

3. A, Band Conly
4. A, B and D only
Options :
71087041097. 1
71087041098. 2
71087041099. 3
71087041100. 4

Question Number : 105 Question Id : 71087010297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafaiad d ¥ ©H 11 - 99 & 3fa9gd &
A. TITEFE JH

B. URTHYH SHd

C. U g

D. WRTHIH fafaa
FafeRad faeeal # 9 981 3w gHU

1. &dd A 3R B

2. PAAA R D
3. PAUA, B IR C
4 HIAA BIARD
Options :
71087041097. 1
71087041098. 2
71087041099. 3
71087041100. 4

Question Number : 106 Question Id : 71087010298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are associated with the Path in Sufism?
A. Establishing self and assertion

B. Repentance

C. Renunciation

D. Poverty

E. Annihilation

Choose the correct answer from the options given below:

1.B, C and E only

2. A, B and D only

3. A, B, Cand D only
4.B,C, DandE only
Options :
71087041101. 1
71087041102. 2
71087041103. 3
71087041104. 4

Question Number : 106 Question Id : 71087010298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



g H 4 @ - 4 gwlde & Uy 9 Gafdd § 2
A, 3T U4 T HUH &I 0T Sl
B. T&TATT

C.m

D. FAelan

. fgm

FrafaRad fdecal 9 9 981 &1 98- 31 -

1. ®da B, C AR E

2. BadA, B IR D
3. BAdA, B, C AR D
4, HddB, C,DARE
Options :
71087041101, 1
71087041102, 2
71087041103. 3
71087041104. 4

Question Number : 107 Question Id : 71087010299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is useful for testing univariate normality of distribution?
A. Q-Qplot

B. Shapiro-Wilk test

C. Jarque- Bera test

D. Scatter plot

Choose the correct answer from the options given below:

1. A and B only

2. B and D only

3. A, B and D only
4. A Band Conly
Options :
71087041105. 1
71087041106. 2
71087041107. 3
71087041108. 4

Question Number : 107 Question Id : 71087010299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



faeRuT &1 U= GHErgdl & IR & o FHafcied § € o 9 Suani § 2
A. 7 - g feEm

B. RIMRT - g gligmn

C.STMT - &RT URI&I0T

D. TERUT

Fafeiad fdmedl § ¥ Iugdd &I g41d oY -

1. &dd A 3R B

2. Had B 3R D

3. BadA, B 3R D
4, HIAA, B AR C
Options :
71087041105. 1
71087041106. 2
71087041107. 3
71087041108. 4

Question Number : 108 Question Id : 71087010300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Johnson-Laird (1995) has some contengencies in the scientific study of logic, which comprise:
A. Relational inferences

B. Propositional inferences

C. Focus gambling

D. Syllogisms

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087041109. 1
71087041110. 2
71087041111. 3
71087041112. 4

Question Number : 108 Question Id : 71087010300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



S - TGS (1995) 4 dh & AP HLTT H PS HETadl g d dH UG ?
A. GEUTHAD TAH

B. Wid&ud - 71d SFAH

C. &% qgadIs] (bidy T
D. T AT
Fafafad fasedl & ¥ ¥gl SR giHe -

1. Bad A, B 3R C
2. BadA, B IR D
3. Bad A, C AR D
4, &9 B, C AR D
Options :
71087041109. 1
71087041110. 2
71087041111, 3
71087041112. 4

Question Number : 109 Question Id : 71087010301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are comprised in executive functions?
A. Planning

B. Attention

C. Set shifting

D. Declarative memory

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087041113. 1
71087041114. 2
71087041115. 3
71087041116. 4

Question Number : 109 Question Id : 71087010301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘HEeR] Yo | Fgftied | 9 o @ TiEe § 2
A. FaToH

B. A

C. HATG faeuTyH

D. UG Ffd
fafaiad faeedl 5 9 98l I g -

1. Bad A, B 3R C
2. BadA, B IR D
3. Bad A, C AR D
4, &9 B, C AR D
Options :
71087041113. 1
71087041114 2
71087041115. 3
71087041116. 4

Question Number : 110 Question Id : 71087010302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Mr A is very good at discriminating between progressive and regressive ways of behaviour. His
choices are clearly perceived by him and adequately symbolised.

According to Rogers, these are the characteristics of which of the following?
A. Individual tendency towards ‘growth’

B. Tendency to 'self actualise’

C. His constructive creativity

D. His self-affirmation

Choose the correct answer from the options given below:

1. A and C only

2. A, Cand D only
3. A and B only

4. B only
Options :
71087041117. 1
71087041118. 2
71087041119. 3
71087041120. 4

Question Number : 110 Question Id : 71087010302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘A TR 3R Uil sadeR | He @3- H $Rd 8| SUS! Ude 34 WY ¥4 4 Udl & 3R 99D
w0 4 gafad 81 39" & HER 3 Fufafed 3 € foust fagvdr 8

A. G4 B AfdrTd Ugh

B. HUAT &Il & PR SULNT &l Ugftd

C. JUD! WEHATED JorTeHd]
D. IUDT HTH HYUH
Fafafiad fasedl § ¥ Sugdd IR &l 984 &1 :

1. B A AR C

2. Bad A, C AR D
3. Had A 3R B

4, Had B

Options :
71087041117. 1
71087041118, 2
71087041119. 3
71087041120. 4

Question Number : 111 Question Id : 71087010303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The psychosocial stage of Intimacy v/s Isolation is preceded and succeeded by which of the
following?

A. Generativity v/s Stagnation

B. Identity v/s Identity confusion

C. Industry v/s Diffusion

Choose the correct answer from the options given below:

1. A only

2. A and C only
3. A and B only
4. B and C only
Options :
71087041121. 1
71087041122. 2
71087041123. 3
71087041124. 4

Question Number : 111 Question Id : 71087010303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HANEHAITST® TR0 9Bl §41H YT B HEfarad H § fogs ag ik 4d H 3A1a1 s ?

A, dddladhd] d-lH ogXld

B. HTH USdH a9 UgdH-yH
C. JEHal g9 fda0r
afoiad fameal © O U8 9Tk &1 99 @ ;

1. 3T A

2. Had A 3R C
3. Had B 3R A
4, HAAB IR C
Options :
71087041121. 1
71087041122. 2
71087041123. 3
71087041124. 4

Question Number : 112 Question Id : 71087010304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following characterise the hardy person?

A. He is high on sense of commitment

B. He is more likely to act to ‘cover-up’

C. He doesn't avoid problems, yet he is often angry

D. He is always under the control of his life and events
Choose the correct answer from the options given below:

1. A and C only

2. A and D only

3. A and B only

4. A, B and D only
Options :
71087041125. 1
71087041126. 2
71087041127. 3
71087041128. 4

Question Number : 112 Question Id : 71087010304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T¢ ogiga H Fefiied # 9 i - 9 faRiva 3idi 8 2

A. T8H Ulddsdl &1 H1d §

8. 98 B [ $H & (oY IR @l &

C. 98 GHEIST U HATd el & [ i 98 e =41 81 9Idl &
D. T8 GHN 30 Sita 3R ge-ral TR [0 3@l 8
FfRad faeedl § 9 951 IR @1 90 &1

1. B A AR C

2. PAAA R D
3. Had A 3T B

4 HIAA BIARD
Options :
71087041125. 1
71087041126. 2
71087041127. 3
71087041128. 4

Question Number : 113 Question Id : 71087010305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following dimensions are essential to be mastered in multicultural counseling, as
per McFadden's transcultural perspective?

A. Cultural-Historical

B. Historical hostility management

C. Scientific-ldeclogical

D. Minority identity management

E. Social

Choose the correct answer from the options given below:

1. A, E and B only
2.B, D and A only
3.B, D and E only
4. A, Cand E only
Options :
71087041129. 1
71087041130. 2
71087041131.3
71087041132. 4

Question Number : 113 Question Id : 71087010305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. Gipla® Ui
3. UfRTie aX e
C. auIe foarRyRg

D. cUEdd UgdH Uy
E. grdieid
afaRad fdsaal & 4 T8l ST 99 31

1. BT A, E 3R B
2. ®ad B, D 3R A
3. ®Had B, D 3R E
4, BT A, C 3R E
Options :
71087041129. 1
71087041130, 2
71087041131. 3
71087041132. 4

Question Number : 114 Question Id : 71087010306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Several types of heuristics have been identified by researchers. Which of the these are included
init?

A. Lexicographic strategy

B. Satisficing strategy

C. Mental set

D. Elimination by aspects

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087041133. 1
71087041134. 2
71087041135.3
71087041136. 4

Question Number : 114 Question Id : 71087010306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



sl A 3o UBR o WHa® e JoTel UgdH ®f ¢ | oFd FHafafad 5 ¥ s nfia g

A, TEIEITHT GrER®t
B. Tt gmi®!
C. S 9=y

D. Ug Q3 R FREA (i 913 oietacy)
Fafeiad fdmedl § 9 Faiide 3ugad S - :

1. Bad A, B 3R C
2. BadA, B IR D
3. Bad A, C AR D
4, &9 B, C AR D
Options :
71087041133. 1
71087041134, 2
71087041135. 3
71087041136. 4

Question Number : 115 Question Id : 71087010307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher engages students in hands-on, inquiry-based and relevant learning activities in his
class. What does this illustrate?

A. Application of the law of exercise

B. Application of the law of effect

C. Creating intrinsic motivation

D. Creating extrinsic motivation

Choose the correct answer from the options given below:

1. B only

2. B and C only
3. A and C only
4. C only
Options :
71087041137. 1
71087041138. 2
71087041139. 3
71087041140. 4

Question Number : 115 Question Id : 71087010307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. 31VOTE & {0 1 SrguanT

B.UHId & 108 BT AN

C.a=aifEa SHHIRY Fierd Bl

D &Rl TR gford Sl

FfRad faeedl § 9 951 IR @1 90 &1

1. dd B

2. Paa B3R C
3. HaU A 3R C
4, HaAC
Options :
71087041137. 1
71087041138, 2
71087041139. 3
71087041140. 4

Question Number : 116 Question Id : 71087010308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Cancer that originates in the blood-forming cells )
l.Carcinoma

such as stem cells

B. Cancer of the epithelial tissue, cells that line the outer

. . I.Sarcoma

and inner surface of the body such as skin, stomach etc

C. Cancer that arises from the cells in connective tissue ,
Il.Leukaemia

such as bone, muscles

D. Cancer of the sympathetic system which is one of the
IV.Lymphoma

rare types of cancer

Choose the correct answer from the options given below:

1. A-ll, B-1l, C-I, D-1V
2. A-1, B-11, C-Iv, D-IlI
3. A-IV, B-Il, C-11I, D-1
4. A-l, B-1l, C-1II, D-1V
Options :
71087041141. 1
71087041142. 2
71087041143. 3
71087041144. 4

Question Number : 116 Question Id : 71087010308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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o R v, ipfed ey &1 R ol HIR &1 U 9gd [add

' UHR o

Fafeiad faeeal 5 ¥ 98l &1 9-1d ®<

TA-ILB-N,C-1,D-1IV
2ZA-LB-I,C-1vV,D-1l
3A-W,B-II,C-1I,D-1
4 A-LB-I,C-N,D-1IV
Options :

71087041141. 1
71087041142. 2
71087041143. 3
71087041144. 4

Question Number : 117 Question Id : 71087010309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Sources of Personal :
] Therapeutic processes
Efficacy by Bandura

A, Performance . , .
, . Live models, symbolic modelling
accomplishment

. Attribution, Relaxation biofeedback,

B. Vicarious experiences ] .
symbolic desensitisation

, lll. Participant modelling, Performance
C. Verbal persuasion
exposure

. IV. Suggestion, exhortation, self-
D. Emotional arousal . :
instruction

Choose the correct answer from the options given below:

1. A-lll, B-11, C-IV, D-I
2. A-l, B-1lI, C-lI, D-1V
3. A-ll, B-lIl, C-I, D-1IV
4. A-ll1, B-1, C-1V, D-II
Options :
71087041145. 1
71087041146. 2
71087041147.3
71087041148. 4

Question Number : 117 Question Id : 71087010309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B. UfaeyT=Idr 3 Hd o AT

C. s 1. Gy GrafeT, ord FwargA

D. HIGTH® 3HR V. G4, YaleH HATHHCR

fofeiad faecl § U a1 393 &1 991 & :

TA-ILBE-1I,C-1V,D-I
2A-LB-N,C-1,D-1IV
SA-ILB-NLC-1,D-IV
4 A-NLB-1,C-IV,D-1
Options :

71087041145. 1
71087041146. 2
71087041147.3
71087041148. 4

Question Number : 118 Question Id : 71087010310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
'‘Types of Reliability" ‘Source of Error Variance'
A, Test-retest . Content heterogeneity

B. Alternate Form (delayed) |Il. Inter-scorer differences

C. Coefficient alpha lll. Time sampling

D. Kohen's Kappa V. Content sampling and time sampling

Choose the correct answer from the options given below:

1. A-1V, B-Il, C-I, D-1lI
2. A-Iv, B-1, C-II, D-111
3. AL B-IV, C-1, DI
4. A-ll1, B-1v, C-1I, D-
Options :
71087041149. 1
71087041150. 2
71087041151. 3
71087041152 4

Question Number : 118 Question Id : 71087010310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. Pl ST v, Sfadwg ufesl SR e el
frafaiad f9eeal § U 9el &1 904 &1 :

TA-W,BE-I,C-1,D-1
2A-IVE-ILC-IILD-1
SA-ILB-IV,C-1,D-1
4 A-NLB-IV,C-1I,D-1
Options :

71087041149. 1
71087041150. 2
71087041151. 3
71087041152 4

Question Number : 119 Question Id : 71087010311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A. Pratibha l. Samkhya philosophy
B. Prajma Il. Nyaya Vaisesika

C. Vak IIl. Tantrik tradition

D. Bhavas IVV. Patanjali Yoga system

Choose the correct answer from the options given below:

1. A-l, B-1I, C-Iv, D-IIl
2. A-ll, B-1V, C-1, D-IlI
3. A-ll, B-1V, C-1lI, D-1
4. A-l, B-1V, C-lI, D-11I
Options :
71087041153. 1
71087041154. 2
71087041155. 3
71087041156. 4

Question Number : 119 Question Id : 71087010311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1T.A-LB-I1,C-IV,D-1l
ZA-IILB-IV,C-1,D-1
SA-ILB-IV,C-1II,D -1
4 A-,B-IV,C-1,D-11

Options :

71087041153. 1
71087041154. 2
71087041155. 3
71087041156. 4

Question Number : 120 Question Id : 71087010312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
, .. Response activated when drugs bind with a
A, Efficacy
receptor
|l. Repeated exposure with less activation of
B. Tolerance
receptors
C. Downregulation lll. Compensatory reduction in receptor
availability
D. Withdrawal IV. Unpleasant physiological responses

Choose the correct answer from the options given below:

1. A-Il, B-I, C-lll, D-1V
2. A-1, B-11, C-llI, D-IV
3. A-lll, B-1v, C-lI, D-1
4. A-IV, B-l, C-lI, D-11I
Options :
71087041157. 1
71087041158. 2
71087041159. 3
71087041160. 4

Question Number : 120 Question Id : 71087010312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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cﬁ.&mﬁ ] 1. TTEh &1 Iuaedl § HIqRS HHI
D.Fadq V. HUT RIS A
Fafeiad faweal 5 ¥ 98 &1 90 &

TA-ILB-1,C-I,D-1IV
ZA-LB-I,C-1,D-1IV
3A-ILB-IV,C-1I,D-1
4 A-IV,B-LC-II,D-1I
Options :

71087041157. 1
71087041158. 2
71087041159. 3
71087041160. 4

Question Number : 121 Question Id : 71087010313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, , . Rayan & Deci
A. Happiness results from experiences of personal

EKP[E‘SSI-UEHE"SS

B. Happiness is self-realization, meaning the Il. Diener
expression and fulfilment of inner potentials

C. Happiness reflects an individual's own judgement |[lll. Aristotle
about the quality of his or her life

D. Happiness result from the fulfilment of three basic
, V. Waterman
psychological needs: autonomy, competence and

relatedness

Choose the correct answer from the options given below:

1. A-l, B-1I, C-lll, D-1V
2. A-ll, B-1v, C-1, D-II
3. A-IV, B-llI, C-1I, D-1
4. A-ll, B-I, C-Iv, D-1lI
Options :
71087041161. 1
71087041162. 2
71087041163. 3
71087041164. 4

Question Number : 121 Question Id : 71087010313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. 35 aafdd & U oiig- @I uiadl & Ufdfdfad axdie | 3RE
D. HHE diH, S-S FHIGIHS HIaGh e B gfd 9 V.
[9:gd Bid1 © - Sad], UG adl U9 Hagdl GIfEeE|
Fafeiad fdbedl § ¥ 98! &1 994 &1 :

TA-LB-1I,C-N,D-1IV
2ZA-1LB-IV,C-1,D-1I
3A-IV,B-NIILC-1I,D-1
4 A-ILB-1,C-1V,D-1
Options :

71087041161. 1
71087041162. 2
71087041163. 3
71087041164. 4

Question Number : 122 Question Id : 71087010314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

) . Aggression that is permissible
A. Aggression ,
according to the norms of the

individual's social group

B. Anti-Social Aggression Il. Aggressive acts that support
commonly accepted social norms

C. Prosocial Aggression Ill. Any action intended to hurt
another person

D. Sanctioned Aggression IVV. Aggressive acts that violate
commonly accepted social norms

Choose the correct answer from the options given below:

1. A-1V, B-1I, C-lII, D-I
2. A-ll, B-1v, C-1, D-II
3. A-l, B-11, C-llI, D-IV
4. A-ll, B-l, C-lI, D-1V
Options :
71087041165. 1
71087041166. 2
71087041167. 3
71087041168. 4

Question Number : 122 Question Id : 71087010314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,B-1,C-1I,D-I
2ZA-1LB-IV,C-1,D-1I
3A-LB-1IL,C-1I,D-1IV
4 A-ILB-1,C-1ILD-1IV
Options :

71087041165. 1
71087041166. 2
71087041167. 3
71087041168. 4

Question Number : 123 Question Id : 71087010315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Description Type of Reinforcement

A, A reinforcement that reinforces a . ,
. : l. Fixed-ratio schedule
response at unpredictable time

intervals

B. A reinforcement that reinforces a . .
. , Il. Variable-ratio schedule
response only after a specified time has

lapsed

C. A reinforcement that reinforces a , )
, lll. Fixed-interval schedule
response after an unpredictable

number of responses

D. & reinforcement that reinforces a IV. Variable-interval schedule
response only after a specified number

of responses

Choose the correct answer from the options given below:

1. A-l, B-1I, C-lll, D-1V
2. A-ll, B-lll, C-1V, D-I
3. AL B-IV, C-1, DI
4. A-Iv, B-I, C-11, D-
Options :
710870411609. 1
71087041170. 2
71087041171. 3
71087041172. 4

Question Number : 123 Question Id : 71087010315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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D. 98 U494 =il & fafafép T & sefparsii & |iv. aRad-a
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TA-LB-1I,C-1,D-1IV
2A-ILB-NILC-1V,D-I
3A-ILB-IV,C-1,D-1I
4A-IVB-U,C-1,D-1
Options :

71087041169. 1
71087041170. 2
71087041171. 3
71087041172. 4

Question Number : 124 Question Id : 71087010316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

. Realistic group conflict
A. The theory that an individual's self- Jreup

th
concept is driven partly from =

membership in a group

B. The theory that prejudice arises from ) ,
, , Il. Social Dominance theory
a real conflict of interest between

groups

C. The theory that all societies are lll. Social Identity theory
organised in group hierarchies and
sustained through discrimination

D. The most important social IV. Interdependence theory
perspective in social psychology

Choose the correct answer from the options given below:

1. A-ll, B-1l, C-I, D-1V
2. A-ll, B-1v, C-lI, D-1
3. A-l, B-11, C-llI, D-IV
4. A-ll, B-lll, C-1v, D-1
Options :
71087041173. 1
71087041174. 2
71087041175. 3
71087041176. 4

Question Number : 124 Question Id : 71087010316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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TA-ILB-U,C-1,D-IV
2A-ILB-IV,C-1I,D-1I
3A-LB-1ILC-11,D-1IV
4 A-ILB-L,C-IV,.D-1
Options :

71087041173. 1
71087041174. 2
71087041175. 3
71087041176. 4

Question Number : 125 Question Id : 71087010317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l
Description Concept
, . , |. Perceptual
A. A laboratory device for testing depth in p
. ] adaptation
infants and young animals
ll. Horizontal
B. Refers to the differences in two eyes location | ,
disparity

of corner angles

C. Refers to two points which fall on non- . . .
lIl. Vertical disparity

corresponding retinal positions one nearer and
the other farther

D. Perceptional adaptability to adjust to an V. Visual cliff

artificially displaced visual field

Choose the correct answer from the options given below:

1. A-l, B-1I, C-lll, D-1V
2. A-ll, B-lll, C-1V, D-I
3. AL B-IV, C-1, DI
4. A-Iv, B-I, C-11, D-
Options :
71087041177. 1
71087041178. 2
71087041179. 3
71087041180. 4

Question Number : 125 Question Id : 71087010317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-IILC-1,D-1
Options :

71087041177. 1
71087041178. 2
71087041179. 3
71087041180. 4

Question Number : 126 Question Id : 71087010318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which is the correct sequence of speech and language development according to Vygotsky?

A. Naive

B. Primitive
C. Egocentric
D. Ingrowth

Choose the correct answer from the options given below:

1. A BCD
2B ACD
3.A,B,D,C
4.B,A D C
Options :

71087041181.
71087041182.
71087041183.
71087041184.

AW N~

Question Number : 126 Question Id : 71087010318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. TSl

B. 3MTGH

C. 3EDhIG®

D. Sfddlg

fFrafcied fasedl & 9 98l SR &1 98- 31

1. A BCD
2B ACD
3.A,B,D,C
4.B,A D C
Options :

71087041181.
71087041182.
71087041183.
71087041184.

AW N~

Question Number : 127 Question Id : 71087010319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In cognitive therapy by Elis, arrange the sequence of following after recognising the activating
event

A. Discriminating the new emoticnal/behavioural consequences
B. Recognising the emotional/behavioural consequences of belief
C. Understanding the corresponding beliefs

D. Challenging and counteracting these beliefs

E. Recognising new feelings

Choose the correct answer from the options given below:

.B-C—-A—-E-=D
2C—-B—-D—-A-E
3C=-B—-A-E-=D
4B—-C—-D—-A-E
Options :
71087041185. 1
71087041186. 2
71087041187. 3
71087041188. 4

Question Number : 127 Question Id : 71087010319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B—-C—-A—-E-=D
2C—-B—-D-=A —E
3C-B—=A—-E-=D
4B-C-D—-A-E
Options :
71087041185. 1
71087041186. 2
71087041187. 3
71087041188. 4

Question Number : 128 Question Id : 71087010320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of Decision Making Perspective of Pro-social behaviour to help a
person in distress?

A. Taking personal responsibility

B. Weighing the cost and benefits

C. Perceived a need

D. Deciding how to help

Choose the correct answer from the options given below:

1. A CBD
2B ACD
3.A,B,CD

4. C, A B D
Options :
710870411809. 1
71087041190. 2
71087041191. 3
71087041192. 4

Question Number : 128 Question Id : 71087010320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A CBD
2B ACD
3.A,B,CD

4. C, A B D
Options :
710870411809. 1
71087041190. 2
71087041191. 3
71087041192. 4

Question Number : 129 Question Id : 71087010321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in sequence as per the Extinction Transfer Theory of Aggression
A. Frustration

B. Residual Arousal

C. Arousing Events

D. Increased Arousal

E. Arousal attributed to Frustration

Choose the correct answer from the options given below:

1.A CBDE
2D,B CAE
3.CD, B AE
4. A, C DB E
Options :

71087041193. 1
71087041194. 2
71087041195. 3
71087041196. 4

Question Number : 129 Question Id : 71087010321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A CBDE
2D,B CAE
3.CD, B AE
4. A, C DB E
Options :

71087041193. 1
71087041194. 2
71087041195. 3
71087041196. 4

Question Number : 130 Question Id : 71087010322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange in sequence what Yerkes described commonly takes place in “insight learning”
A. Sharpening and frequent recurrent attention to the goal

B. Trial

C. Survey/Inspection

D. Attitude of concentrated attention

E. Critical point

Choose the correct answer from the options given below:

1.B-C—-A-D-—E
2B—-D-C—-A—-E
3 C-D—-B—-A—-E
4B—-C—-A-E-D

Options :

71087041197. 1
71087041198. 2
71087041199. 3
71087041200. 4

Question Number : 130 Question Id : 71087010322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



6y & 3R Jfaely ifUTH & G &1 81 &, 34 el HH § orafed &- :
A. T&T & Ufdl AU DI S BT 94l dR-9R HTYH Bl

B. faamor
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1.B-C—-A-D-—E
2B—-D-C—-A—-E
3 C-D—-B—-A—-E
4B—-C—-A-E-D

Options :

71087041197. 1
71087041198. 2
71087041199. 3
71087041200. 4

Question Number : 131 Question Id : 71087010323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The enhancement of dominant responses is strongest when people think they are being
evaluated. What is the correct sequence of this theory?

A. Evaluation apprehension

B. Well learned

C. Presence of other

D. Increased arousal

E. Social facilitation

Choose the correct answer from the options given below:

1.B,A, CD,E
2.CDABE
3.AB,CDE
4. A, C DB E
Options :

71087041201. 1
71087041202. 2
71087041203. 3
71087041204. 4

Question Number : 131 Question Id : 71087010323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,A, CD,E
2.CDABE
3.AB,CDE
4. A, C DB E
Options :

71087041201. 1
71087041202. 2
71087041203. 3
71087041204. 4

Question Number : 132 Question Id : 71087010324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of transformation in integral yoga?
A. Transformation of physical

B. Transformation of subconscient

C. Transformation of mind

D. Transformation of vital

E. Transformation of inconscient

Choose the correct answer from the options given below:

1.C,D, A B E
2 A CDBE
3AD,CBE
4.C, A DB E
Options :

71087041205. 1
71087041206. 2
71087041207. 3
71087041208. 4

Question Number : 132 Question Id : 71087010324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Fafafad fasedl & ¥ U8l SR &1 98 &1 :

1.C-D-A-B-E
2ZA-C-D-B-E
3A-D-C-B-E
4 C-A-D-B-E
Options :
71087041205. 1
71087041206. 2
71087041207. 3
71087041208. 4

Question Number : 133 Question Id : 71087010325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which sequence, according to Piaget, the following cognitive milestones are achieved?
A. Object permanence

B. Reversibility

C. Abstraction

D. Centration

Choose the correct answer options from the given below:

1. A BCD
2CABD
3.D,A B C

4. A, D, B, C
Options :
71087041209. 1
71087041210. 2
71087041211. 3
71087041212. 4

Question Number : 133 Question Id : 71087010325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A BCD
2CABD
3.D,A B C

4. A, D, B, C
Options :
71087041209. 1
71087041210. 2
71087041211. 3
71087041212. 4

Question Number : 134 Question Id : 71087010326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the pairings of US and CS in classical conditioning in terms of onset of US in relation
to CS starting from the earliest

A. Backward

B. Simultaneous
C. Delayed

D. Trace

Choose the correct answer from the options given below:

1. A BCD
2D,BCA
3.CD,B A
4.D,C A B
Options :
71087041213.
71087041214.
71087041215.
71087041216.

AW O~

Question Number : 134 Question Id : 71087010326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A BCD
2D,BCA
3.CD,B A
4.D,C A B
Options :
71087041213.
71087041214.
71087041215.
71087041216.

AW O~

Question Number : 135 Question Id : 71087010327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the stages of personality development in the theory given by Rollo May
A. Innocence

B. Rebellion

C. Ordinary consciousness of self

D. Creative consciousness of self

Choose the correct answer from the options given below:

1. A CBD

2 A B CD
3B.CAD
4B, C, D A
Options :
71087041217. 1
71087041218. 2
71087041219. 3
71087041220. 4

Question Number : 135 Question Id : 71087010327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A CBD

2 A B CD
3B.CAD
4B, C, D A
Options :
71087041217. 1
71087041218. 2
71087041219. 3
71087041220. 4

Question Number : 136 Question Id : 71087010328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Schertzer and Stone (1974) specified that acceptance requires respect for the
individual as a person of warmth

Reason R: Therapists relate to their patients/clients in a non-judgemental, non-critical and
non-punitive way

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

71087041221. 1

71087041222. 2

71087041223. 3

71087041224. 4

Question Number : 136 Question Id : 71087010328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l &y RN §: U@ @l i@y (a) SR GHR &I a (R) Bl T &

STHYT (A) : Teor AR ©H (1974) 5 T8 oy oo afe Wiexu & faw aafed & 93 E
Siidd dfgd & ¥4 § g1 91fg

b (R) : A1 Fafreas oraa It/ Yarfiat & wry I Fofos, IR - sraEaTas ok R EsSEs

s ¥ deR ®d ol
Suddd HYHl & Male H e d [deedl & I g1 SR g -

1. (A) 3T (R) GHFT Tl & 31X (R), (A) BT el ARAT &

2. (A) AR (R) GHT W1 € U (R), (A) BT Tl ARHAT o1 ¢ |
3. (A) 981 § U= (R) 70 B |

4. (A) TTETd 8 IR (R) 9B B

Options :

71087041221. 1

71087041222. 2

71087041223. 3

71087041224. 4

Question Number : 137 Question Id : 71087010329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Obtained t-valve will follow theoretical t-distribution if underlying assumptions
are fulfilled

Reason R: The application of t-test makes an assumption of heterogeneity of variance

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041225. 1

71087041226. 2

71087041227. 3

71087041228. 4

Question Number : 137 Question Id : 71087010329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l &y RN §: U@ @l i@y (a) SR GHR &I a (R) Bl T &

HfBY (a) T safHled qauRST & @1 Far S s, @ U ¢ - 91 SSiad t - Gaem &
HIIR B

dt (R) : t - GL&0T &1 SH{UANT U8RI ®1 fAUHRTAl &1 GauURUN 3@dl &
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
1. (A) AR (R) THI LT § 91R (R), (A) T &1 BN EN

2. (A) 3R (R) G HE1 & T (R), (A) BT §E1 ARG ] & |

3. (A) WE1 & U (R) W1 81 |

4. (A) &l 7ol © TXq (R) TSI €|

Options :

71087041225. 1

71087041226. 2

71087041227. 3
71087041228. 4

Question Number : 138 Question Id : 71087010330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: According to Classical Test Theory (CTT) total variance is equal to the sum of
true variance and error variance

Reason R: Error variance and true variance are independent of each other as per CTT

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041229. 1

71087041230. 2

71087041231. 3

71087041232. 4

Question Number : 138 Question Id : 71087010330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l @ [T U §: ud & Sy (A) SR UL @I do (R) Pl T 5

HIHBY (A) : TGB! GHE TSI & HTUR Dol TERUl I TR0 U4 Ffe UER0 & IR &
T Bidl g

dd (R) : Al TIRT SR dRAfdd YR Udh-gaR 9§ WAl |

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -
1. (A) 91R (R) GHT el & SR (R), (A) BT TG BN G1

2. (A) 3R (R) G HE1 & T (R), (A) BT §E1 ARG ] & |

3. (A) WE1 & U (R) W1 81 |

4. (A) 981 T8I § Wd (R) HEI B

Options :

71087041229. 1

71087041230. 2

71087041231.3
71087041232. 4

Question Number : 139 Question Id : 71087010331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: The NEO-PI-R does not have a response style scale

Reason R: NEO-PI-R developers argued that adjustment of social desirability leads to a
reduction in validity

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041233. 1

71087041234. 2

71087041235. 3

71087041236. 4

Question Number : 139 Question Id : 71087010331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l &y RN §: U@ @l i@y (a) SR GHR &I a (R) Bl T &
HEHYA (A) : Frail. df. 315-3MR(NEO - PI - R) H 3rfsban el AMG- 181 8idi 51

TP (R) : =31l - UL, 313, 3R @ [d@ad < ardl - dd (a1 [& gEed dig-adl & 99™e- o
T 9 T g

Suddd HYHl & 3Mcid H HHifed [decdl H I Faiide 3uged 3w 94 :

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) 3R (R) GIFT W&l & U (R), (A) BT Wel o Tl &

3. (A) T8l 8 U3 (R) Hol T8I 5|

4. (A) HE1 981 8 W] (R) 9B1 B

Options :

71087041233. 1

71087041234, 2

71087041235.3
71087041236. 4

Question Number : 140 Question Id : 71087010332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Many companies now enable their employees to share profits or even to

participate in company ownership
Reason R: Worker's productivity boosts rewards from employers

In light of the above statements, choose the most appropriate answer from the options

given below:

1. Both A and R are correct and R is correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087041237. 1
71087041238. 2
71087041239. 3
71087041240. 4

Question Number : 140 Question Id : 71087010332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l @ [T U §: ud & Sy (A) SR UL @I do (R) Pl T 5

HIHGYA (A) : HTSTHT D DU A U DHANG! DI HATD H ST W B HYdl HU-l &
WiiH H Hl HETER 9914 @1 wiae™ a3 |

TP (R) : HHAING! BT IAGHAl 3P Haigdr3di 9 uian Gaad! g
U DYl & 3ciie H Fifed el H Faiive Iugad 3w @I gHu:

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) 31R (R) GHT G818 U (R), (A) B eI ogREAT Tal 5
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087041237. 1

71087041238. 2

71087041239. 3

71087041240. 4

Sub-Section Number : 2
Sub-Section Id : 710870281
Question Shuffling Allowed : Yes

Question Id : 71087010333 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the given passage and answer the five questions which follow

A researcher wanted to predict academic achievement using Intelligence Test - A (IT-A),
Intelligence Test-B (IT-B), Type of school (rural/urban), and conscientiousness as predictors.
She used multiple regression analysis. She collected data on 200 students on all variables. The
OLS estimator was used. The F=89, p< .01 for the entire model. In individual predictor
analysis, IT-B was the insignificant predictor. The suitable test indicated homoscedasticity. The
model R? = 0.64 and adjusted R* = 0.59. Both intelligence tests are significantly correlated with
the criterion variable and with each other.

Sub questions

Question Number : 141 Question Id : 71087010334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is df for F for the entire model?

1.4;195
2.4:199
3.4;195
4.3;199
Options :
71087041241. 1
71087041242.2
71087041243.3
71087041244. 4

Question Number : 142 Question Id : 71087010335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is correct about residual variance in the passage?

1. It is correlated with predictor variable
2. It is correlated with criterion variable
3. It is systematically distributed

4. It is randomly distributed

Options :

71087041245. 1

71087041246. 2

71087041247. 3

71087041248. 4

Question Number : 143 Question Id : 71087010336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What kind of a variable is 'type of school" in the passage?

1. Moderator variable

2. Mediator variable

3. Dummy variable

4, Quasi-continous variable
Options :

71087041249. 1
71087041250. 2
71087041251. 3
71087041252. 4

Question Number : 144 Question Id : 71087010337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is the reason for insignificance of IT-B?

1. Heteroscedasticity

2. Poor predictive power
3. Small sample size

4. Multicolinearity
Options :

71087041253. 1
71087041254. 2
71087041255. 3
71087041256. 4

Question Number : 145 Question Id : 71087010338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is indicated by R? in the passage?

1. 649 variance is explained
2. 80% variance is explained
3. 32% variance is explained
4. 36% variance is explained
Options :

71087041257. 1
71087041258. 2
71087041259. 3

71087041260. 4

Question Id : 71087010333 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



R mhmr s aur R o FIw e

U Qeddl 3 9SG UREU-A (313 91 - A), S aReur - B (3113 <1 - B) Gy & USR @y
edl), JUT Sfafda@iiaar ®f UeEe & €49 H Judn] &2 QEE Iuaiel &1 Yiasgarnt s
TR I=i- a8 HfamH GRawe &1 Iy faan Swi I W W 200 Genfial & dEy o
e U (U | 3 Ud UF S@mad &1 JuanT v fdean a1 9ol ufaeus gq F=8.9, P< .01 el
uld fdas Gyl § (7-B e Ui ol YTl 3Ugad UR&T U Touidl &1 Ydod el
PIGESIET

RZ = 0.64 qUT IS
RZ = 0.59 BT §1G TH&UIT BT FHY TR T UH g U Te@qul Jegas 5|

Sub questions

Question Number : 141 Question Id : 71087010334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G0l UioREUd 5 F & foU FEfeiRad § Y &Hardig ?

1. 4,195
2. 4,199
3.3,195
4. 3,199
Options :
71087041241. 1
71087041242.2
71087041243.3
71087041244. 4

Question Number : 142 Question Id : 71087010335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

SUad IRETE H ARy fdgo- & fwg H Fafied 4 o 9gi g 2

1. 98 YIRjgd @R U Ygdaiid g
2. 08 P9 9 ¥ 9% - Hafid 81
3. O¢ Sgaryd ¥4 ¥ f[aaikd g1
4. U% Ul U d [GaRkd g
Options :

71087041245, 1

71087041246. 2

71087041247, 3

71087041248, 4

Question Number : 143 Question Id : 71087010336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SWdd R & * fG=IIeid & bR g YR BT g 7

1. fFaHe IR

2. AR @

3. TN 9

4. 9dd - A =W
Options :
71087041249. 1
71087041250. 2
71087041251. 3
71087041252. 4

Question Number : 144 Question Id : 71087010337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



315 €1 - B ®1 Agdoldl &1 9@ ol o1 & FEGd H Y ®H - G HRU & ?

1. faus fagriean

2. A D U d A
3. UfaGRl @1 aY SR

4. g IEdl

Options :

71087041253. 1
71087041254, 2
71087041255. 3
71087041256. 4

Question Number : 145 Question Id : 71087010338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SWjad U # FgfaRad 3 9 fed R2 gR1Yid [@a1 /™ g 2

1. 64% UERU] 1 AR Hdl &
2. 80% WUl DI SOReAT Hdl o
3. 32% WU @1 SO Hdl o
4. 36% UHRU] 1 HRAT Hdl ¢ |
Options :

71087041257. 1

71087041258. 2

71087041259, 3

71087041260. 4

Sub-Section Number : 3
Sub-Section Id : 710870282
Question Shuffling Allowed : Yes

Question Id : 71087010339 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)



Question Label : Comprehension

Read the given passage and answer the five questions which follow

A psychologist developed a scale for measuring warmth and competence dimensions. As a
part of scale development, she factor analysed 25-items to retain 20-items. She chose
Exploratory Factor Analysis (EFA). The Bartlett's test=237.8, p< .001. The overall, Kaiser-Meyer-
Olkin test (KMO) is 0.89. The Principal Components Analysis (PCA) was used to extract
components. The first eight eigenvalues were 9.9, 6.5, 1.6, 1.00, 0.85, 0.83, 0.82 and 0.79. She
retained factors on the basis of scree plot and rotated them using varimax criteria. Three items
showed cross-loadings, eighteen items loaded on only one of the factors, and remaining items
did not load on any factors.

Sub questions

Question Number : 146 Question Id : 71087010340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct in case of three items having cross-loading?

1. They have excellent validity

2. They are conceptually sound items

3. The scale has poor reliability

4. They should not be retained in the final scale
Options :

71087041261. 1

71087041262. 2

71087041263. 3

71087041264. 4

Question Number : 147 Question Id : 71087010341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In the above example, what percentage of the variance would be explained by the first
unrotated factor?

1.9.9

2. 396

3.65.6

4.72.0
Options :
71087041265. 1
71087041266. 2
71087041267. 3
71087041268. 4

Question Number : 148 Question Id : 71087010342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Bartlett's test results in the above study suggested that

1. Population correlation matrix is not an identity matrix
2. Population correlation matrix is an identity matrix

3. Sample correlation matrix is not an identity matrix

4. Sample correlation matrix is an identity matrix
Options :

71087041269. 1

71087041270. 2

71087041271. 3

71087041272. 4

Question Number : 149 Question Id : 71087010343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Using the Kaiser-Guttman criterion, how many factors would be retained in the above study?

1. 4

2.8

3.2

4. -3

Options :
71087041273. 1
71087041274. 2
71087041275.3
71087041276. 4

Question Number : 150 Question Id : 71087010344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct for the Kaiser-Meyer-Olkin test?
A It is a test of sampling adequacy

B. Chi-square test is used to test the significance

C. Values smaller than 0.5 are desirable

D. Smaller partial correlation leads to high KMO

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A and D only

4. B, Cand D only
Options :
71087041277. 1



71087041278. 2
71087041279. 3
71087041280. 4

Question Id : 71087010339 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

R mhmrs R IR e FITwe:

U HAlfaqHI = GIgle 3R e 3191 fdaiid ®i1 A-l fasw™ & 4R & &4 § 354 20 Hal
@I Td 9 8q 25 Hal I dR® [a%dqYl {1l 35 Haul dRe [d%adyU 3 Uh T) 11§l
U&= 237.8 p< .001 THUl, HER-HTR-3Hifcdh-1 URETT (b TH ) 0.89 €1 U<dh U] B &
fou 3= q& gea ™ faxayu (df T v) &1 I9ahT f6an UYH 318 AR dogd HU: 9.9, 6.5,
1.6, 1.00, 0.85, 0.83, 0.82 AR 0.79 U §U / FoiH Bh| WIE & AYR W Wl B TGl aYl aRHF
HHES TR gshlda T

o el = Ufddd TS Uil aUT HSRE Hal S dad [l UH 8 RS Wl gs, §d §U
el 31 [t il FRS W ST g3

Sub questions

Question Number : 146 Question Id : 71087010340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Tiaea Aifen ael dH Aal @ dey ¥ Fefafed e s I Sy 9gi 6 2

1. -] SHP el o

2. d YaIf-u® U 4 IHY He o

3. 7G0T @ [ayg-gdl sdiveH® & |

4.3 1G] @I Sifad A0 J Fal 3@1 ol e




Options :

71087041261. 1
71087041262. 2
71087041263. 3
71087041264. 4

Question Number : 147 Question Id : 71087010341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TURIG 30 H UYH R0 PR fdod- Uid2id TG0 &I IRl daT

1.9.9

2.39.6

3.65.6

4.72.0
Options :
71087041265. 1
71087041266. 2
71087041267. 3
71087041268. 4

Question Number : 148 Question Id : 71087010342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

JUYe ST H SIeaie URie & URUIH Hbd $ed & i

1. GHP! Geday Afew IrRewar Afd el ol
2. THY] Ygdey Afde IRyl i g

3. ufaeel geddy Afted grewar Afes 72 &
4, vfex geddy Afte gewar A g
Options :

71087041269. 1

71087041270. 2



71087041271. 3
71087041272. 4

Question Number : 149 Question Id : 71087010343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
hoR - TeH AHGUS @] UGN &b Iuddd Sea- | fdha- SR 3 ol |

2.8

3.2

4.3

Options :
71087041273. 1
71087041274. 2
71087041275. 3
71087041276. 4

Question Number : 150 Question Id : 71087010344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PR - HIR -3lcp1 TRIa0 & foe Fafaiad § 9 oH 981 § 2

A. T8 UraeH Taiedl &l WIa &

B. 34! daufiad / ardedl & FuRu gq @15 - 9 (chi- square) BT IYGRT favdl 141 B
C. 0.5 ¥ A A Jie-1 g

D. 7Y 3Hif¥Id Yedddy U 3= & TH i gidl el

FafeRad fdeed § ¥ 981 3o gHU

1. 3T A

2. Had A 3T B

3. PAAA R D
4, &da B, C AR D
Options :
71087041277. 1
71087041278. 2
71087041279. 3
71087041280. 4




